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S1 First and Second Order Derivatives of the Structure Unification Force Field
The structure unification workflow uses a force field optimization to determine the ideal geometry of a fragment. The

optimizer is based on the Newton-CG algorithm [[1]]. For this, we need the first order and second order derivatives of the
potential energy function with respect to the Cartesian coordinates. The energy function is given by

EFF :Ebond + Eangle + Edihedral + ECoulomb (1)
= Eoondij + Y Bangie.ij + Y Ediedratijht + P Ecoulombij

S1.1 Bond Potential

One single bond harmonic potential between two atoms ¢ and j is given by

Ehvond,ij = Kvond (7”% - Tz'j)2 ) (2)

where distance in Cartesian space between two atoms ¢ and j reads
rij = \/Th +yf + 22 3)

Tij =T — T; “)

with
and x; is the x-coordinate of atom 3.

S1.1.1 Derivatives of Fyonq,;;

The first and second order derivatives of Epong,;; With respect to the coordinates x, y and z of the participating atoms 4
and j are:

dixiEbond,ij = 2kpond ('rij - T?j) dixirij 5)

diyiEbonde = 2kbond (Tij - T?j) diyirij (6)

dszbond,ij = 2kbond ('rij - T?j) dijrij (8)

d‘;ijond,ij — Yipona (rij — 75) dzj’“”' "

(;Ebond,ij = 2hipona (15 — 1) dijnj 10

dd22 Boond.ij = 2kbona (rij — 13) j;? s 4 Zhvo ( d% rij)Q .
dycz'l;ﬂiEb"“d’” = Zhoona (73 = 1%) dyi—iczi dyida; 9 T o dd i dd (12)
dchl ZEb""d ij = 2kbona (74 — ng) d;j; Tij + 2kbond dd Tij dd (13)
dlejiE""“d i3 = Zhvona (i = 1i3) d:v(jjlrw + Zkbond dd,-rijdijm (14)
dyfji Ehvond,ij = 2kbond (rl—j ) dyfjlml rij + 2Kpond dd - dd as)
fiz;lijb"“d’” = Zhvona (73 = 73) dzfjmw + 2kbond dd Tij dd : (16)
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e > d 2
TyZEbond,ij = 2kpond (Tij ) dy 27'” + 2kpond (dy T j) 17)
d? d2 d d
dzdy; ————Fhond iy = = 2kpond (Tz] ) dzidy; — T + 2kbond 5— dy; Tij dizirij (18)
2 2 d d
mEbond,ij = 2kbona (7ij — 71)) dyndr, Tvdn i3 Zkoona 5 7, ig g i 19)
d? d? d d
dy,dy, ——— Fhond,ij = 2kbond (Tij — ‘j) mrz‘j + 2kbondd7yirij dTJj?“ij (20
> 2 d_d.
dz;dy; Evond,ij = 2kbond (Tij ) dz;dy; ———74j + 2kbond 5— dy; Tijg—=— dz; (21)
2 e d .
@Ebond,ij = 2kpond (rij ) dz 2“] + 2kpond <d2Z j) (22)
d? d2 d d
dz.dz Ebond,ij = 2kpond (rij ) dZILd . Tij + 2kbondd Tij—5— dz (23)
A<
d? d? d d
7Eon i':2k0n i 9 [ 2'l{:on 7 7 1ij 24
dy;dz; ot T a(rig =i )dzzd Tig T SRoond g i T @4
d? d? d d
dzdz, ———— Epond ij = = 2kpond (Tz] ) dz d — T + 2k‘bondd Tijg—>— d (25)
j
> > d .
@Ebond,zj = 2kbond (Tij — T?j) E?Tij + 2kbond <d%7“z]) (26)
d? d? d d
mEbond,ij = 2kbond (Tij - 7"%) dyjd T.’L] + kbondd Tij 75— d Tij (27)
d? d? d d
mEbond,ij = 2kpona (15 — ) dzyda,; T + 2kb0ndd sz'j dfzjmj (28)
> > d 2
@?Ebond,ij = 2kbona (rij — ) y 27%] + 2kpond (dy] Tij) (29)
d? d2 d d
Eon 7 Qkon 1] ) 2kon 1j 7 T1ig 30
0y, Prontid = koo (1 = )dzjdy]rj+ bond o ~Tis 30)
d? o d? d 2
Tz?Ebond,ij = 2kbond (rij - rij) TZ?—TU + 2kbond (dzjrm) (31)

The derivatives of r;; with respect to the coordinates of the particapating atoms 7 and j are given in Section[ST.1.2]

S1.1.2  Derivatives of r;;

The first and second order derivatives of r;; with respect to the coordinates x, y and z of the participating atoms ¢ and j
are:

A T (32)
dxi E Tij
d Yji
ry = Yt 33
dy; Tij G
b= (34)
dzi . Tij
d Tj4
d jr” T (35)
d Yji
S 36
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di”j - ijj (37)
dcf;m'j = 7; — jfjj; (38)
dycfixi "= ‘% (39)
dzdczix " ‘% (40)

dmcjjlxirij = 7; + 9:% 41)
dy(jjl:ci = % (42)
dz;ljlgcz b Ijréj] (43)
C;iizﬁ'j = 7"1] - Z:j; (44)
dzfiyl / _yj;gﬂ (45)
dxfjiyi "= xjréj (46)

dycjlzyi "= _rlj + 2:]?2»] @7)
dzjljly i = % (48)
d:r(dez i xjr?? (50)
dyszzf” - % (51)

dz(jjiz T = ‘rl] * ﬁj (52)
ddjg " rlj - :ﬁ] (53)
dy;ijl:cj " ‘% (54)
dz;ljlxj T = ‘% (55)
j;?rij = 7; - ?g’; (56)
(;Zij - %J i (57)
- - i (58)

ris
2 Tij -
dzj Tij Ty

The first and second order derivatives of r;; are equivalent to the derivatives of e.g. r;; by interchanging atomic indices.
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S1.2 Angle Potential

The angle harmonic potential between three atoms ¢, j and k is given by

The angle between three atoms ¢, j and k is given by

A5k

where a;;y, is the dot product of the vectors r;; and ry;.

S1.2.1 Derivatives of Eapgle ik

The first and second order derivatives of Eqngle i With respect to the coordinates x, y and z of the participating atoms 7, j and k are:

d2
da?

0 2
Eangle,ijk = kangle (aijk) - aijk)

= arccos (

— arccos (

TijTrj + YijYrj + Zijzkj)
TijTkj

A4k )
b
Tijrkj

d d
EEangle,ijk = 2kangle (aijk - a?jk) T%aijk
d d
@Eangle,ijk = 2kangle (Oéijk - a?jk) T%aijk
d d
CiiziE‘angle,ijk = 2kangle (aijk - a?jk) diziaijk
d d

dl‘j
d

J

0
Eangle,ijk = 2kamgle (aijk - O%‘jk;) dr. ik
J

d

— Fangle,iji = 2k; ik — o) —aij
gle,ijk angle ijk ijk ijk
dy; dy;

d d
0
de Eangle,ijk = 2Ifangle (aijk - O%‘jk) de Qijk
d d
0
dl‘k Eangle,ijk = 2kangle (aijk - O%‘jk) dl‘k ik
d d
— Eingle,ijk = 2k Qi — QY ) ——au;
gle,ijk angle ijk k ijk
dyr ( U dyy,

d

d

—— Fangle.ijk = 2kangle (Qviji — alir) ——ij
de gle,zg g ( J ’ij?) de J

d2

0
Eangle,ijk = 2kangle (aijk - O%‘jk) 5 Qijk + 2kangle (

2
dz;

d 2
dﬂ?iaijk>

(59)

(60)

(61)

(62)

(63)

(64)

(65)

(66)

(67)

(68)

(69)

(70)

(71)
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d?
d
yida
e
d? i
d ang
z le
’Ld ,iJ
dZZE ik =
d an, 2
x gl k
5d et a
dydzxi FEangl gk = 2k - (a
Jd eijk an ijk —
dzd2 Fane =2k ” (ozl ?jk)
(S .
jdx; ijk = angl k= d72
E S d
dgjd2 angl =2k (Oéi . ?jk yzd
ud . - )dm'
x E ik gle d 2 ik
ddzi ang = 2k (a‘ O‘(Z)jk 2id +9
ykd le,ij aj ijk — ) dxlOé ka
z E ik = nel d 2 ijk ng
z gle k ij i) 54 a 2k dx
kd 18] an, ik — dl i a ia4
T E ik = I 2 ij n i
i = le d k gl d jk d
i . (@ - » o T
di ek angl k= )ddeiaw ang xiaz‘j 3iaijk
ddznya o e (o al; d 42 ledd o
d d2 Ye al Jjk = ¢ (Oé a? Tk L gledi kdd
T nee 2k ik jk) dx « 2k T a «
] E Jijk n — d d2 1 ij ang 7 ijk d] ijk
d2 a = gle( af Y kTt le = d —
dy ngle, 2% o zjk) wdT; dundz: o dz; N dy o
Zld dudn ik = a“gle( ijk — dZdQ - angl p et dj ik
- ok ol T ok dr, 0
Z]d —FF e,ijk angle ik — ”k) d2 ik angl xiaijk dj ik
dxd—Q anel = 2k (e ) A" 2k de day,
kdy 5 eijk = angl E— 4 dd21jk+ angl dZOéljk dkalj
d2i - ¢ O Z. © k
d an 2 (0% %, d 2k d d
Y gle,i k - jk) ’ y‘a an P yka
kdyAE ok el cl(i2 i ge ik d ijk
dzd2i angl = 2k o (0 ?jk yidx; + 2k di dz
wd e ijk an ik — )dQOéZ] 0 yiai kaij
yiEa _ gle 0 dy .+ gle d ik 2 k
ngl 2k, Qij i) jd ok dya
e.ij an, jk — dyiai. an i
k= gle d 2 ik ol d s d
=2k (0 ik zd + 2k “dr 0
angl gk = )ddzyialj ang ]azj d ijk
o (0 o yid k2 ledi “d
ik — k) dd;.kai‘ Ean Yi ij dyiaijk
04? Yrd jk T2 gledd k.
J
k) dyia. k‘a Yi «; Yj i
e 2 ik + ngle d gkdd ik
kd 2 .
yl-oz k T a ja
ijk ang dk ij ijk
+ lo— ki
y-a Y a
an i i i .
glei ]ki ijk
d d
ijki ik
d
2 «
L
ik

(72)

(73)

(74)

(75)

(76)

a7

(78)

(79)

(80)

1)

(82)

(83)

(84)

(85)

(86)

87)
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d2 2 2
i _ d
22 Eangle,ijk = 2kangle (aijk zyk) 2 Qijk + 2kdngle Gk
i dz le
d2 d2
-~ _E = 2k o, d d
d$jd angle,ijk — angle (C\lz]k Uk) led az]k + 2kangled z; ik —— dZZ Ak
d2 d2
——F, = 2k 0.) ———a; d d
dy;dz; angle,ijk angle (Oézgk ”k) dzidy, 0k + 2Kangle —— dy; Qijk—=— . Qijk
d2 d2
—  Buugesiik = 2uge (e — ) ————a; d_ a
dZJd angle,v angle ( igk — ”k) dedZi ik + Qkangle dz; Qg de Qijk
d2 d2
E =9 ool ) — | d d
dIdeZi angle,ijk Kangle (O‘Uk azjk) dzydy Qjk + 2kanglemaijk T%aijk
d d2
B0 =2k o —a%) ——— d 4
dyrdz; angle,ijk angle (az]k al]]{}) dzdyr @ik + 2Kangle o akaT%aijk
d2 d2
dzndz; angle,ijk 2]€ang]e (Oézjk azyk) dendz, — Qi+ 2kangled a”kd kaijk
d? g o\ 2 d 2
dx? angle,ijk — 2kamgle (aijk - aijk) dz 2041]k + 2kmgle (dl‘jaijk>
d2 d2
—— Baneleiir = 2k, i — aY. d d
dyjdxj angle,ijk angle ( ijk a”k) dy]d ———Qijk + 2kangle dm] a”kdyj Qi
d2 d2
B esin = ke (e — %) — 4 . a
dzjd angle,7j angle ( ijk z]k) ded:L'j Qijk + 2kangle dl‘j Qijk de Qijk
LE 2k 0 d2 d d
dl‘kd.ﬁj angle,ijk — 4Nangle (Clijk - aijk) d]}kd Oé”k + 2kang>1e da:] Ol”kdxk Ak
d2 d2
B R BN} d d
dykdxj angle,ijk kangle (az]k az]k) dy d T Qjk + Qkangle dxj ik aun Qijk
d? d d
E. T )
dzkdxj angle,ijk kdngle (awk az]k) ded az]k + 2kdngled Oézjkd kaijk
d? d2 2
dij Eangle,zjk: = 2kangle (Oé”k aijk) d 2 ik + Qkangle <dyJ aijk)
d2 d2
Ty, P = Zhnge (e — ) -0y P I
dZ] angle,? angle ( ijk ljk‘) dZ]dyj ik + Qkangle dyj Qijk dZJ Qijk
d2 d2
E l,“k:2k Qiir — Y. . d . d y
dl'kdy] angle, angle ( ijk Z]k:) dyjdl'k Qijk + Qkangle dl’k Qijk dyj Qijk

(88)

(89)

(90)

oD

92)

93)

(94)

95)

(96)

o7

(98)

99)

(100)

(101)

(102)

(103)
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* g 2kangte ( %) & 4 D2 d
- P i —aV,) —— i —— Ui
dykdyj angle,ijk angle ijk ijk dykdyj ijk angle dy] ijk dyk ijk
pe o & d d
mEangle,ijk = Qkangle (aijk - aijk) Waijk + Qkanglediyjaijkdizkaijk
’ (o — ) 2 L)
7Eanv1e,' ik = 2kangle Qi — Qg ok + 2k, gle (Ck' 'k)
d22 gle,zg ) l] d 2 9 an, dZJ )
d? d2 d d
WEang]e,ijk = 2kangle (aijk - a?jk) maijk + Qkangled kazjkd Qijk
J J j
d? 0 d? d d
dydej Eangle,ijk = 2kangle (aijk - aijk) dzjdyk Qg + 2]’€angle dyk Oézjkd 2 Q5
2 N i d
mEangle,ijk = 2kangle (aijk - O‘ijk) ded ——— ik + 2kangled 2 Qi —— dzr Qijk
d? 0\ @2 d 2
dixiEangle,ijk = 2kangle (aijk - aijk) dx 2 ik + dengle <dxk04ijk>
d? d2 d d
mEangle,ijk = 2k‘angle (aijk - a?jk) dyrdar, ——— Qi+ 2kangled azgkdy Qijk
d? d? d d
mEangle,ijk = 2kangle (aijk - a?jk) dopdy ——— Q4 t+ Qkangled azgkdz Qijk
d? o \ d? d 2
diyleangle,ijk = 2kangle (aijk - aijk) d 2 ik + 2kdngle (Clykaijk>
& . 2 i d
mEangle,ijk = 2k/’angle (aijk - aijk) Waijk + 2k‘anglediykOfijkdizkoﬁjk
d? d? d 2
dizzEangle,ij}g = Qkangle (Oéijlc - a?jk) dz Qamk + Qk'angle (deaijk>

The derivatives of ;;;, with respect to the coordinates x, y and z of the participating atoms i, j and k are defined in Section[ST.2.2]

S1.2.2 Derivatives of ;.

The first and second order derivatives of o with respect to the coordinates x, y and z of the participating atoms ¢, j and k are:

a
d.’ﬂi

Qi =

d d
Qijh Go; "id T Tij da; Vigk

a2

2 Uk
T Tk +1
ij R r”rk]

(104)

(105)

(106)

(107)

(108)

(109)

(110)

(111)

(112)

(113)

(114)

(115)

(116)
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d2
d2

d Ak dy; Tij Tij dy; Qijk

7d Qg =
yl 7'-2-7' . 7,_7k + 1
1] kj 7«” k;
d d
d Qijk g7 Tig — Tij qz,; Vijh
— Qi =
dz " 9 a?, 1
Tijrkj 7Ti2jrzj +

o d . - A e
d QijkTij qg; ki T QighkThj gg; g — Ti5Thi g, Yigh
d; “0
Lj 202 ”k 11
7' kj r”rkj
QiikTii =T 4 Qi =T — Tl =S ai;
d ijkTig gy kg ikl k] dy; g iU kj dy; Yigk
y i ; ; ;
Yj P22 aZin +1
iR\
Wit i =S 4 Qs -G — g
d ijk i dz; kj ijk k]dzj ] ij kﬂdzj ijk
a2 ~Qijk -
K P22 [ ik 4
ij' kj ’rfj’rij
d d
d Qijk Gur Thi = Tkj qay igh
- Qijk =
d(Ek a2,
ririoa ] ——= 1
97 kg THTR;
oo d g Ao
d Qijk dyn Tkj Tkj dyr A5k
- Q5 =
dyx, o ”k .
’I"z_]'r'kj 7‘ Tk] +
d _d o
d Qijk gz Thi — Tkj gz Vijk
- Qjk =
de 9 “k 1
Tz]rkj T”Tk] +
2 d
d d Qijk da; i Qijk G Yijk 2 2
Qiin L g — g d d cood o o d g ) Ay
( ik e, ' v dx; z]k) < T?jri_j rer§7 Qijk gpz Tij — Tij ggp2 Yijk 2 (awkdmr” — T4 Ga, awk> d; Vi
Qi = 3 + - =
r2 oy (= ik +1)° T3 ”’“ +1
ij! kj TR, i ki Tk

(117)

(118)

(119)

(120)

(121)

(122)

(123)

(124)

(125)
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( d d %k Ty i X @ijk Ty Gigh > >
Qijk g Tij — Tij gg Qigk | \ =33 P o d g d oo d o dg o d oo d
d? dai dai Tk Tii Tk n Qijk Gyedz; i~ i dgpdw; Yidk — o, Yidkay; Vit qy; Gigk g, Tid (126)

- Q4 = 3
dyid; 2L (— +1 2.7, ”’“ + 1
ijTki 7-” z ik

oo d o) d
2 (aljk dz; Tij Tij dz; a”L]k‘) dy; Tij

3 . wk
T3 kj 7 +1
( d d z]kdz Tij Qijh g% Qijh
Qijl g Tijg = Tij gu; Qi k 7,2 d’ d’ d d d d
2 ) ) ) ;L] 2 X P <y Y < S < Sy S ¢ S ¢ Sy S a ... a4 g
d o dz dz; T”TM i3 Tk + Qijk Gzyda; 19 T "0 Gy dw; Yidk T Gw; Yidk Gz i + dz; Yidhk Gz Tid (127)
I
dzida:i *J a2,
2. (_ 2.
Tijrk] ( ”'zJ k] * 1) T”’rk] 1JTk] +1
o d o o d o) d
2 <a”ij‘ dz; Tij Tij dz; al]k) dz; Tij
3 A uk
T3iTkj 702 +1
(a d . A g ) ijk dao; ' kI ijk dw; |t Qijk dL Qijk 2 P2 J 4 4 4
ik g, 17 — Vg go, Qijk - 2 .3 - 3 2 7 P ¢ A S ¢ S VN ¢ S M ¢ S a 4. @ .
d2 N IR da; " v J dx; TR Ty T N a'”kdzjdwi Tij Tij dx; dz; Qijk dz, Qijk dx; Tij + dx; Qijk dz, Tij
k 3
dxidx; 2 bl
e 2 ) %ijk 2
TiiTkj (*7-2.7-2_ +1 T3 ki
ij' kj
(128)
oo d o dog ) d ood o dog ) d
(amk da; 13 T T G alﬂk> 2o, ki 2 (awk da; "3 T T G amk) da; "
2
2.2 wk 3 z]k
T - +1 YT +1
15" kj rurk] ij RJ rurk]
(a d r r d a ) ijk dy kj igk dy Tij Aijk dy Aijk d2 d2 d d d d
ijk 7 — Vg g, Yijk - 2 .3 - T3 2 .2 .. e P S M .. a . G g
d? Idwi 7t T day T3 Tk ki Qijk Gy dz; i3~ Tid @y dw; Gidk T oy Yigkdy; Tid T dy; Gigk g Vi
dy dx Yijh = 2 E +
j &b a2, 2
3Tk (—72”’5 + 1)
J Tk
(129)

2.2
5 kg
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(a d . oA g ) Qijk dz; Tki ijk dz; i Qijk T Fijk P2 P2 4
ijk gz, Tig — Tij gy, Gijk - 2 3 3,2 2 .2 P« Sy S P < S
d? IRdes 7t T dwy T T3k T3k Tii Tk n Qigh Gz dw; 15 T i dzyda; Vidk T day Yidk Gz dz Tij + dz Qijk g Tij

-7 ik =
ded.Z‘i

njw

a?
ik

2 2
T (f + 1) 5Tk
13" RJ ” k] 13" RJ

oA e d o) d g oo d g )
(amkdsz T'ij dxia”k’) dz; ki 2(awkdzﬂ"w T'ij dmiamk) dz; i

2.2 uk 3 7,]k
reT +1 YTk +1
g kj 11 ka gt na 711 k]
d d @ik day, ki Qijk qay Yijk
a"k*f"*“'*@"k) Yz, 3,2 d? d d cood o dog )
d? e = ( W5k day; Tid T Vg Gy Qig Ty Tk N i Gy da; Yidk T oy Vigh g Vi Qijk Go; Ti5 T Tig du; igk | day, TR
oo Gk = 3 -
drpdx; 2 (_ a?,, )2
EAANIEE T
2 d d
d d Yijk dyg, ki @ijk gy Fijk
a"k*ﬂ”"*r“fa“k) ——": 7,2 d? d d o d o d o) d
22 - ( ijk qa; "5 T T Ga; Big TR "5k N —TijWaiijrmaijkTmr i \%ikde; "3 T Vi ey Yigk ) Gy, Tk
dykdmi B 3
2 Uk 2 .2 Uk
Tk +1) T2k TiiT - +1
ij kﬂ( r? rk] ijt k] ij" kj lerk]
d d ijk dzj, | ki Qijk oy Vijk
a"ka“—T"fa"k) ——= 5 T 7.3 d? d d oo d oo d o) d
d? B ( R dx; "W ) dx; ¥ 73Ty 73Ty _Tijmaijk + maijkﬁirij Aijk dmi’/‘” Tij dz, Qijk dzn Tkj
dzpdx; 2 3
2 . _%7Jk 2 . TJk 2 ,..2 ij
TijTkj ( rfj'ri. + 1) Vi kg r”rk] +1 rljrk‘j T’L]Tk] +1
d
d d ik dy; T @ijk gy; Vijk ) )
a"ki.r"_r"fa"k) — 3.2 + 75 d d ood o d d ..
d2 . ( ik dy; ' iJ 1 dy; R rEr a”kd 2Tij ~ T dyzamk 2 Qijh gy Tij = Tij gy Vigk | qy:Tid
5 Mijk = 3
@i r2re [ — +1 rer 3T, ”’“ +1
ij' kJ r2.r2 ij' ki ij' kj ’l“ ’l“
ij kj kj
2
(a"k d i —rii-La k) Gt L d? d? d d d d
2 ik Gy, Tid T i gy; Qg T 32 72 oo d g d ooy d oo d o
d dyi ayi T3 ks Tii ki 5k 7% dus dz; dy; Tig = Tij 32 dus dz; dy; Qijk dy; Aijk dz; Tij + dz; Qijk dy; Tij
deady; T : *
1Y 2
kg (— 2.7k
J ij kg v

d d d
2 (aijkTMTij - ""ide}iaijk) 2z T

(130)

(131)

(132)

(133)

(134)

(135)
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2 _d 2 d
(G Ay —pdg ) oS T i S il &’ d? d d d d
igk gy, Tig = Tig g, Qijk - pa: - 3 2 z P« U S * S B ¢ U < S MU ¢ Sy S
d2 IR dy; " v J dy: I T3 T T N Qijk Gyda; i3~ Tid dy,da,; Yidk + dx; Yidk dy; Tid T Qy; Gigk o Tid

- Ok =
dl‘jdyi J 2 % 2 wk
T k) (7 1] k] + 1) T3 kj =3 kj +1
(136)
d .. . d o d . oo d d ... .
(aijk v T T g ay, amk) da; ki 2 (awk ay; Tid — Tij gy, awk) da; |1
2 .2 3 . ”k
75Tk T3iTkj 7 +1
2 d 2 d d
(g — o) (e Sars | v p P ‘o ‘4
d? W dy T dy T3k T3 ki TR Wik Ty, dy; "9 Tid Ty,dys Yk T ay, Yidkay; T ay; Yk ay, "
dy;dy; 7+~ : " :
g% 2 ik 2 @ik
7Tk (_r‘z.ii, + 1) riaTki\| Tz T
1] ©J k¥ J
(137)
ood o d o) d oo d . d d
(awk ay; Tid — Tij gy, awk) dy; "k 2 (awk y; Vi Tii gy, aljk) dy; T
2 .2 7Jk 3 i z]k
TiiTkj T2 Tk_] +1 T35 kg J +1
2 d 2 d
(a a, od g ) Wk TR GnazyTid | Gk ge; Gigk - 2 } ., J
ik go. i T Tig o, Wigk - 2 .3 - 32 2.2 .. RN S J N < UL ¢ J SO
d? Idy; "1 T dy; T Tk T3k T3k Qijk Tz dy; 0~ Tid @z, dy; Bidk T dy; Yk gz, Tid T dz @ijk gy; Tij
ik = 5 + (138)
dz;dy; ) ) a2,
T kj ( Tz Tk; + 1) 75 k] r” + 1
oo d oy d o) d oo d o d o) d .
(awk dy: i~ T qy; amk) a; ki 2 (amk dy: Tid T Tii qy; awk) dz; i
2 2
2.2 _ %k 3. | _%ijk
TiTki\| Tz T 1 TR\ T T 1
2 d
d d Qijk day, ki Qijk gz, ijk
ai‘kfri’_ri'i.ai’k> - 2.3 PR . d? B d . d ... ood o d oo A
d? B ( IR dy; "t I dy: 7 i ki i ki Tij Tyoday Yidk t Ty Gijk gy, Tis Qijk Gy; "is — T'ij @y; Vigk ) Gu TR 139
dw;@dyaw 2 3 * a (139)
¢ 2 T 1 2 . IJ’C 2.2 7Jk
TijTkj ( T?ﬂ”zg‘ +1 rijrk] J +1 szrkj T TkJ 1
2 d d
d d Gijh Ty ki Yigk Ty Yigk )
ai'k*ﬂ'—h"f%'k) —— 3.3 + 5 o d? B d . d.. . oo d oo d o) d .
d2 N ( JE dy; ' v J dy; ¥ T T n _TUM@%% + ma”kd—yir” Aijk dy; Tij Tij dy; Qijk dyn Tkj (140)
— i = . _
dyrdy; " 2 2 2
2. %k 2, . z]k 2.2 _ %k
T35 kg ( 27 + 1) LAY +1 T4 ki\| T, +1
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( d d ) a‘?jk ﬁrkz Qijk gor dz Qijk d d d
Qiik =T — Tii—Qiik — — > d2 d d P Y S NP .
d? R dy; " v dy; Y T TRy r”rkj —Tij Tondys Qijk —+ dor aijkfwrij Qijk dy: Tij Tij v Ak dzn Tkyj
dzndy; 3 + - (141)
kUYs
2. (_ 2, 1Jk 2,2 1_1k
7 Tkj ( 2.7 + 1) 33 kj + 1 5Tk 7T, +1
d d ijk dz Aijk qz; ijk 2 5
i L A - d d o d od oo d ..
d2 ( ijk gz, TtJ 1) dz; z]k) ( T?jrij + T?jrzj Qijk dziz Tij — Tij dz? Qijk 2 (a”k ETZJ — deTiC‘Uk) az Tij
12 Qij = 2 3 - (142)
i 2 Yijk 2 2 3 wk
Tk (— —|—1) Tk +1 T Tk +1
iy’ K TR, iy’ R iy’ kI r”rkj
(a d r r d a ) ijk dx kj ijk dT J Qijk T ;. d’l‘ Aijk d2 d2 d d d d
ijk gz, Tij T Tij gg, Yijk - 2 .3 - 33 .. . .. PP S SR < S ..
d? JRdz 1 Iz T T T e T R N Qijk Tzdz; i3~ i) @zydwy Yidk T To; Yk dz; TG Tz Yidk da; Ui
N — : . _
djdz; " 2 i : 2 Gk 4
T3iTkj ( ZT + 1) 7Tk _T?jrij +
(143)
oo d o) g oo d o) D g
(az]k dz, i — Tij gz, azyk‘) da; ki 2 (amk dz; Tii — Tijqz, azjk) da; |1
2
2 .2 uk 3 ’bJ’v
rer +1 YTk +1
ij " ki\| T e ij' kJ T
2 4 2 4 d
(a d ., . d a ) aijkﬁrk]‘ ai;’kﬁh‘j aijdejaf,jk 2 J42 d d d d
ijk gy Tig T Tig g Qigk - % - 3 2 .2 ¢ Ay R U < S B ¢ R Jp MR ¢ Sy S
d? ACE Jdz Tk T3k ik Qijk Taydy; T3 Tid Tzdy, Yidk T dy; Giik az; Tid T dz; gk dy; i
dyydz " 2 7 t (144)
Yt 2 (— s 1) 2] — ”’“ +1
ij' Kj Ty rij ij' ki ank/
oo d o) d ood o d o) D
<az]k dz; Tii — Tijqz, az]k) dy; ki 2 (amk dz; Tii — Tij gz, azyk) dy; T
2.2 LJk 3 .
Tk x> +1 T35 ki
(a d . g, ) Fijk dz; Tki Qijk dz; i Fijk Tz Gijk 2 e 4
ijk gy, Tig — Tij g Qijk - 2 .3 - 3,2 P P ¢ Sy S R SR ¢ Sy
d? I dz; " Iz Tii ki T3 Tk Tii ks Qijk Toidz; T3~ Tid dzyde; Yidk T dz; Yidkdz; dz Tij + dz @ijk Gy dzl
0z dz, Qi = 5 3 + (145)
2 . %k 2 2. |
rijrk] ( Tz‘zjrij + 1) rijrk] T ij kJ * 1

d d d d d d
(aijkdizirij — rijdizia’ijk) E’I“kj 2 (aijkdfzi’/‘ij — riijaijk> TZJ_TZ‘]‘

2 a2
2,2 _ %k 3. Uk
T35 ks 2j —+1 TR T 7 +1

urk]
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—
drpdz;

— ik
dyrdz; K

d2

- Ok
dzidz;

d2
dx?

d .
Laiin) 2L
_— T ri'i.awk) dzr
- gL (aijkdzirw i dz
Qijk d il o— ij dz B
d o a; kd
a?jk day, ki ij r2zrk ) —Tij dzidan Qijk dan : T2 ”k —
.. — 2 3 T : ; Tk
s i _Tijdima”k) 5Tk i + 5 ik 4 15" kj TR
ai]dei ” : TiiTkj T?j"‘%]
1)
2 | — —+
Tijrk] ( w kJ
d .
ik ) 7T
o4 . _rijd%iaijk) 2Tk
d 2 d a ki’ri]’ ai]kdzi ij
o QAijk d A D ij dz B
a?jk dy;; ki ij 2 ikf ) —Tij dz;dy Aijk dyg » Uk "
_ 3 2 ; :
a5 i _Ti.i'aijk) T?ﬂ“lm ij aZjy +1 ij" kj i
i Tij i dz; e
Aijk G, 3 T5iTkj g
Tig"ki ( ik
d )
4 i) 2
—_— i — Ti'i.azjk) dzk
d 2 d a kirij (aijkdzirlj Jdz;
Qijk d ik T 7 Qij =i
d i a kg |
a?jkdzkmw + i 2zk2 —Tij dedz,iaka dzy, 2.2 wk +1
—_ 3 i‘rktj - T
d .. 2 3 g o ” :
i’r” o Tij%az]k "5 ky z]k +1 J
o | : T?jrkj J
2
Aijk +1)
2 o — ik
i (=53

d o d
Lorhj + ijeThg dwz i+ 2aij prkiry
@ijkTij gz2 ki T Qig o2
J

a2
L
- T.ijrkj dx]z. ijk

k 1
2 7] + d
ik = 2 L
Qi szrkj 17Tkj 2 d Thj afjerj Tij ij 2112
Qijk dx . Ty e
: T TiiTkj
d TijThy 9o Gijk T
ik Tk Gy Tid T Tii Tk Qa;
..er. + QijkTk; i 3
QijkTij G Thi
2.2 uk -+ 1
) r”rkj i.7

d ..

d ... 74
~Tij — TijTkj dz; az]k) da;
Tki + QijkThj 7.~ d 7
d ) Lry 2 (aieri - da;
o @iji ) 7=
d + QT dd ~Ti5 — TijTkj dx; Qi dx; 3
o Thj ij oy
2 ( aijiTi; dz;

(146)

(147)

(148)

(149)
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d? d? d d d d d?
d? N QijkTij gy da; ki + Qi qy; dz, i + Qijk g, Tis Gy Tki + Qijk gyy>"i5 de; ki~ TiiTkG Ty, da, Vidk (150)
— i =
dyjd:L‘j Y

+
2.2
75Tk
2 d .. 2 d d
B B d , B ] d B 3 ] d B aijkwj",kj aijkWJjTij aijkwj(lijk
il @y hi  GIRTR G T  TTh @ Giik ) \ TR T T EE
+

3
2 2

2.2 (_ %k
rijrkj( 22 +1)

i3 kg

e d . g Ao e e d o) d
2 (awkru dz; ki T QijkThj o Tij — TijThj qa; alﬂ’@) dy; ki

5 3 a?.,
— V]
Tijrkj 7'?]-7'% +1

d d d d
2 (aijkrij da; ki + QijkTEj da; T3~ T kG da; aijk) dy; Tid

J

3,2
Tk
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d? d? d d d d d?
d? QiskTij @, da; ki T QijkTh) @z, da; Vs  Qijk Go; i 3z, Thi + Qigk Gz; i Ga; Thi TG Oz, i, Yidk
dzyda; R T (151)
2 AT 2
od g d o od gy Ao d o d o d g d .
Vi Gy Yigk @2y Tk T TiG @z, Qigh qey Tk T Tl Gy Qigk dz; it Tk G2y Qigh dg; Ti
a?jk %j"ij Qijk dz Qijk
?szj Tfil”‘i]
e d . - oA e A o) A
2 (awkrw da; ki T QiR TR gy Tig T Tig Tk G awk) dz; ki
5 3 a2,
ij
Tl] Tk] T?j Tij + 1
g d . - A g A ) A
2 (awkrm dw; Tki T Qi ) G Tig T Tig Tk da; awk) dz; i
d? d d d? d d d d d d
d? QikT'ij Tz da; Thi T Qigh Ge; Tid day Thi — TiiTkG Tada; ik T Ti5 Ga; gk qay Thi T T Gy Gijk oy Thi T Tk @y, Yigh da; Ti
2 dx; 2.2

T3 k)

2 d d

Aijk doy Tk Qijk Gz Vijk d d d

(— st ) (aijkﬁj Ta; ki T QigkThj o= T — TiTh gy Gigh
ij' kj ij' kj J J J

+ 3
2 .2 zjk
rwrkj( 2l - + 1)
d

d
2 (aL]kTZ] dx rk] + QijkThj T dw Tij — TijTky ﬁjaijk> oy T kJ

2.3 _ mk
rljrk] rmrk] + 1
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2

d d . . _d ...
d d g o e d g Tty Thy g Qi 7T
42 oA d g AT ik Thj % ik 75Tk i due ry
d? @ijkTij Gy, da; Tkj+az]kd$j7“u dyr ki T TiiTh Ty da; Yidk ij da; Yigk Gy, m y (153)
Qi =
dyrdx;
Ok Ty R Gisk Ty ik d kTR ST — T =S
- WijkTij go; ki + QijhThj qu; Tig — TigThj Gy i
i3 kg Tii kg
+ 3
P22 (— ik 4
i kj THTE
d
d =g o
2 (aijkrij dz; Tki + QijkTkj dz; Tijg — TijTkj g, dx; azyk) dyr | ki
2 .3 Mk +1
5Ty e
d d o, o _d ..
d? kT 4 T ATy T T
d2 - i i s — T ———— il — Tis -k Tkj 5 dan 1jk’d:1;- j J dan da,]
d2 az’jk""idekdij'k:j+041,jk’dwj7’zj deT‘kj TijTky dzyd; ijk 1) dzxj Ik dzy, 2k 3 (154)
Qi =
dzdz;
GRTELTR | ik e Gigk A d
(_a”kzdzgrkj mkzdzz ke ) (Gzijkrijﬁrkj +aijk7"kjﬁj7ﬁu TiiTkj dz; azjk)
rers Tl j
ij kj ij" kj
+ 3
2.2 (_ 1Jk +1)
rz_]rk]( 7'”7kj
d
d_p I | APSP -la--) Thi
Q(Qijkrijdmjrkj + QikThj Gy TG T Tii TR Ga; Vigh ) Tay Tk
2.3 uk 1
Tk T +
2
2 d d e AT
4 T LT ik T S TR — Vi ki~ (g ik
d2 aijkrijdy?rkj+amkrkjdy?r”+2amkdyj i3 dy; ki T Tk gy 4 (155)
Qi = >
dy2 2,2 ik 1
J rery . — 5 .3 +
ij kg T3 k)
d R TITRG Gk T | gk @y Gk
oy 4 it — 1 _7a,,)_ g Lk, vy
(aijkrijTyjrkJ + QijkThj gy Tij — Tij Tk @y, Yigk 2 ) 77
*

2.2 Uk
’I“”Tkj( Tz +1)

d d . d ... .
d e A iikTki gy Tig = TigThj gy QVigk ) gy T
d e g A d 2(0%7‘ “Tkj t QigkThj gy Tij — TijTki gy v,
2 (aijkrij@jrkj + QigkThj gy Tid — TigTh @y, a“’“) dy; kI R dy; Yi :
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d2

dxidy;

d2

dyrdy;

d? d? d d d d
d? N QijkTij @y, ki QijkThs gz, dy; Tid T @ijk Gy; Tid Gz; Thi T Qigh qa; Tis gy, Thi (156)
Ty kT
dzjdy; 2 2 m 11
ij' kj T’L]Tkj
A d oo d o od o do e d o d o d o d o
5Tk Oz, dy; Gidk — Vi @y Gijk gz Thi i @ Qijk gy Tk T Tk gy; Qigk gz Tig Tk @z Qigk gy T
2 .2 _ ijk
rijrkg rf rij + 1
2 2
G A 4 d Wk TR GundsyTia | Gk ge; Gigk
kTig ay ki T Sk TR qyy T TR dy g gk TR TR TR
+ = 3
2 .2 Aijk
"5k ( T T 1)
d d d d
2 (aijkh‘j dy; "ki + QijkThj gy, Tij — Tijmj@aijk) az; ki
2.3
5Tk
o d . - Ao d o) d
2 (a”kn] dy; Tk T QigkTki gys T — TigThi gy awk) dz; |
3,2 z]k:
’I’”’I’k] 7”7,9] + 1
o d? ) d .. . d IR . d o d. .. d . d ) d o d ..
N QiskTij gy doy ki T Qijk @y 5 Gay ki~ Tii Tk Gy, day Qidk T Tid Gay Qigk gy; Tk — Tij @y, igk day, Thi T Tk qay, Gigk qy; i (157)
ijk =
2 .2 'L]k
Tl]rk] rwrk] +1
2 d d
Qijk day, TR @ijk gy ijh ( d d d >
— : AiikTii 5 —Tki + QiikThi 5 —"Tii — TiiThki 5 — Qi o Ao - A o d o) d .
< 7'?]'7'21' 7.1_2]_7.12” ijkTij dy; kj ijkTkj dy; ' 4 ij Tk dy; ijk 2 (amkru dy; Tkj —i—a”;ﬂ“k] dy, Tij TijTkj d; Qijk dzn Tkj
+ 3 - -
2.2 (_ uk 2,3 %k
TZJTkJ ( 'r”'rk] + 1) lerkj T?jTi]‘ +1
o d? . od . d . e d? - d oo d ) .4 . d . d oo d o
a WigkTij Fyedy; "hi T Gigk ;i e Thi T Tk Tgdy; ik T Tid @y; Gidk ays i T T gy Yk ay; TR T Tk g Yk ay; Tid (158)
ijk =
2.2 uk
T3 kj 7, +1
2 d d
Yijk Ty TR Yk gy Gigk ( d d d )
- ‘ QijkTij Fo- Tk T QijkThj G- Tij — TijTkj g Vij o R Ay SN MY A
( 7 Tijrij ijkTij dy; kj ijkTkj dy; ' ij'kj dy; ijk 2 (a”krm dy; Tkj —|—amkrk] dy; Tij TijTkj dy; Qijk dyk Tkj
+ T -
2 .2 _ 'ij 2,3 _ 1jk
TUT’C] ( r”r,ﬂ + 1) lerk] rwrkj +1
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d? d d d? d d d d d d
d - Q5T 55 dzrdy; Tk + Qijk dy; Tij dzn Tkj TijTkj dzrdy; Qijk Tij dy; Qjjk dzn Tk + Tij dzs Qjjk dy; Tkj + Tkj dzr Qijk dy; Tij (159)
SR T
dzkdyj 7’2 7’2 17k +1
ij" ki urlw
ijk dzp, | ki + ijk gz, Vijk ( d d d
_ it =t b Qi = — g d d d d
N ( fjrgj rfjri]. ijkTij dy; kj + ijkTkj dy; ' v ijlkj dy; ijk 2 (aijkrijryj’rkj +aijk?"kjd7yj7'¢j 7T¢jrkj@a¢jk> dor Tkj
3 —
2,2 m« 2 .3 uk
TigT kg ( TiTh; + 1) i kj 7‘7]7‘,” +1
g d . . A2 ) d d d’
2 @ikTij 37Tk + QijkTEj z=2 i + 2a;, @5 Tid dzy Tk T TigThi 42 Gigk
Qg = (160)
dz2 2
J ,,,.2 ,,,.2 _ 17" _|_ 1
ij' kj r”rkj
2 d 2 d d
o d o d e d _ Figk @z TRy GigkdagTid | Gikds; Gidk
N (alﬂkrU dz; Tkj + AijkTkj dz; Tij — TijThj dz; aljk) < r%rij rg’jrij rfjri].
3
2
2 .2 17k
rljlrk‘] ( Twrkj + 1)
PR . P . o d o e d o) D o A - o d . o d d
2 (aZ]k‘r’L] dz; Tki + QijkTkj dz; Tij — TijTky dz; az]k) dz; Tkj 2 (auk""z] dz; Tki + QijkTkj TZJ.T'L] —TijTkj szazjk) szrij
2 .3 mk 3 2.2 %Jk
riT 1
15" kj ”rk] + rljrk‘j r”r“ +1
d? d d d? d d d d d d
d o _ QijkTij5 dz, dxr, Tki + Qijk dz; Tij der Tkj — TijTkj dz; dxy, Qijk + Tij der Qijk dz, Tk — Tij dz, Qijk dar Tkj + Tkj dar Qijk dz, Tij (161)
i =
drpdz; "
k&% r2r2 /- ”" +1
ij' kj ”rh
2 _d d
a: . 7 —Tkj Aiik T-— Q4
ijk dog ki ik Toy, Fijk ( d d d
- : QiikTij 3, Tk T QigkThj 3, Ti5 — TijTkj g, Qij oA iy d d d
< 7 T igk"ij gz kg ikl kj gz i i1 kj dz; Yigk 2 (a”kr”@mg —&-a”krkj@jrij _rij’rkjdizjaijk) doy ki
i 2.2 sk 3 - 2,3 a;
9 Yijk
T3k ( 2 T 1) T\ T T
d? d d d? d d d d d d
d QikTij @ dyy ki T Qigh qz; i Gy, Thi — Tii TG Tz, dyy Qidk T Tig qyy Gigh gz, Thi T Tid @z, Yigk dy, Tki T Tk Gy Yisk gz i
Qijk = J J J Y J (162)
dydej 7"2 7,2 u’v +1
15 kj T17Tk]
2 d d
Wijk Tyg Thi | Yidk Ty Gigk ( d d d
— QijkTij 7 Tkj + QijkThj 7 Tij — TijTkj 7.~ Qij A oL d
N ( r3rd rZrZ ik g qz; kg ikt kjqz; g 1§l kj dz; Yigk 2(a”m]%r;€] —&—awkrkjﬁjn] —Tijrkjaaijk) dykaJ
7 _
r2r2 (- ”’“ +1 r2 3 [ S +1
ij' kj T7]Tk] ij' kj r?]_rij
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d? d d d? d d d d d d
d? QikT'ij Topndz; ki T Qijh @o; g Tay Tk — Ti5Thi Tadz; gk — Tij @oy Qijk oy Thi T Tig Gz Qigh qz; Thi T Thi oy, Gigh 3z Tig (163)
Qijk =
dzdz; 9 9
le’rk]
ijk dzp ki + Fijk Tzp Vijhk ( d d d )
- QikTi5 7 Thj T QijkThi 735 — TijThj 7~ ij oA R S S RPN d
( Zrss 3z ijkTij gz ki ikl kjdaz; i 1§ k) dz; Yigh 2 (a”krl] az; ki + aijkTrj az; g T ik gz Gk ) oy ki
+ 5 -
2.2 m 2,3 uk
le’f‘k] < 7‘”7‘,w + 1) rl]rkj 7’7]7’,” +1
d d ijk day, | ki Qijk qo, Yijk 2 2
a - a — + . d R R oo d o d o) _d
d? ( ik Guy, Tk ki dzy, wk) < 7y 7y a”kdrirk] Tkj do? aijr 2 (a”kdwk Tkj = Tkj quy. Yigh ) Tay ki
d.’£2 ijk = 5 3 + - (164)
k T2 (— ik —l—l)2 riiT. ”" +1 7T ”’“ +1
k] i3 ks CACAVAREE S EALC AV S
2 d d
d d ik dyy ki @ijk Ty Fijk
d? (a”k oy k3 T TR Qo a”k) < TR + T
——— ik = 5 (165)
dykdxk 2 a’zgjk 2z
Tii e | — +1
4k TR
d? d? B d . d ) d .. _d ] oo d g d o) d
Wik Gyedar ki~ Tki dypdon Yidk — oy Yidk Gyr ki T @yr gk qpy Tk 2 (awk dzrn ki T Tki day “uk) TR
2 wk 3 z]k
Ti Ty +1 Ti Ty +1
3" kj rurk] I kj Turkj
2 d d
od o d o _ Qigh Tz Tk Gijk dz), Yigk
d2 (a”kdwk ki T TR Q. a”k) ( TR + T
Qg = B (166)
dzpdxy, 5 ( a2, n 1) 2
TijTe: | ===
I kj T35 s
o d? ) o d? - d .. d ) d . _d oM a -t — )
Aijk dzpdzy Tkj — Tkj dzndzr Qijk — dzy, Aijk dzn Tkj + dzp Qijk dzy, Tkj deafk kj kj dzy, ijk dzp
2 Ulc 3 zgk
TiTi +1 TiTh +1
i ki \| T T EANTRY R
2 d d
d d Gk Dy TR Gidk Ty Gidk 2 2
ik 7, Tki — Tkj 7, Qij — d Y. S oo d o d o) A
d2 ( tjk dy, ' kI k3 Ay, zjk) < rfjri_], rfjrij alikdyirkj Tkj dy? Qijk 2 (alikdyk Tkj Tkj dur a”k-) dykrkf
d Qazjk = 3 + 3 — (167)
ror2. ( uk + 1) 7“2“7“2. _ Z'ijl; +1 TZ"TB- tak +1
4 kj T Tk Tk AL AV
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2 d d
A d Gin s TR | Gk 3o Gigk
d? (a”k dyi k3 T TRy, auk) <_ TR TR
Qijk = — : (168)
dzkrdyk a2 2
PR
J 755
B d? ) - d? - d d ) d d ) ood o d o) d
Qijk qzpdyn ki~ Thi Tapdyn Yidk — dyy Qidk Goy Thi T dzp Vidk dyy Tki B 2 (a”k dyr, k3 T ki Gy, Qigk ) Tz ki
9 2 & 3 n’z‘k
L. __ _Tijk . _ %k
TUTkj r?jrzj + 1 errkj 7‘1.2_7-7‘%]. +1
2 d d
d d Qijk dzy, "ki Qijk Gz, Aijk 2 2
Qijk 3, Tkj — Tkj g, ij - ‘ + ood R S oo d o d o) A
42 ( ijk dzy, ' kI kj dzy zjk) ( rfjrij r?jrij adezi Tkj — Tkj dz? Qijk 2 (a”dek Tkj — Tkj dzr ik dzn Tkj
Qi = 5 + - (169)
dzk 2 aZi 1 2 2 %k 1 ;
T'i_jrkj (_ngriJ + ) r”rkj _ngrij +
The derivatives of a;;; with respect to the coordinates , y and z of the participating atoms 4, j and k are defined in Section [ST.2.3] The derivatives of r;; and ry;

with respect to the coordinates z, y and z of the participating atoms ¢, j and k are defined in Section @ The derivatives of 7;; and ry; are identical, only differing
the atomic indices ¢ and k.

S1.2.3 Derivatives of a;;;,
The first and second order derivatives of a;;;, with respect to the coordinates z, y and z of the participating atoms ¢, j and k are:

d

dixiaijk = Ty (170)
diyiaijk = Ykj (171)
diziaijk = 2k (172)
djjaijk = i+ 25— o (173)
k= b 2 (174)
dijaijk S PR (175)
%aijk = —xj; (176)
iOLijk = —Yji (177)

dyx
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dﬂ: 7
J
ZZ.T J
k

a
i
ik =
—z
7t

dzk
da2
=
=0

d ¢

yidx;

d ’ |
zidx;
d? l

—a
ijk —
=0

—Q
ijk =
=0

dyd2

jdx; “

; ijk —
=0

d ‘
z;dx
d? i

a
ijk =
=0

TaATq
l l ’ij

dyd2
kdl‘ “
di |
dz : Jk
kd.’t @
d i |
d 2 ijk —
dy? .
d :
zidy;
d ‘ |
x;d
d . Yi
yjdy ¢
d d21 o
zjdy;
dxd2 l
kdy ¢
; ijk

a
ijk —
0

—a
ijk —
=0

—a
ijk —
=0

—Q
ijk =
=0

(178)

(179)

(180)

(181)

(182)

(183)

(184)

(185)

(186)

(187)

(188)

(189)

(190)

(191)

(192)

(193)

W
(6]
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S
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d
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(194)

(195)

(196)

(197)

(198)

(199)

(200)

(201)

(202)

(203)

(204)

(205)

(206)

(207)

(208)

(209)
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(210)

@211)

212)

(213)

(214)

215)

(216)

(217)

(218)

(219)

(220)

(221)

(222)

(223)
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S1.3 Dihedral Potential

The dihedral harmonic potential between three atoms ¢, j, k and [ is given by

. 0 . 2 0 2 Q
FEdinedral,ijri = E Kdihedral ((Sln Ok — sinOjnr)” + (cos 075, — cos Oijxr) ) + E =

rij

The cosine of the dihedral angle between four atoms ¢, j, k and [ is given by

_ (Tjiyrj — TrjYsi) (TiVie — TieYrj) + (Tjizkg — Trjzji) (Trjzie — Tikzrg) + Ygizeg — YiZii) (Ykj2ie — Yik2ej)
cos 0k = (224)
2 2 2 2 2 2
\/(xjiyk:j - «Tkjyji) + (xjizkj — l‘k:jzji) + (yjizkj - ykajz') \/(xkjylk - xlkykj) + (kajzuc - wzkzkj) + (ykam - yzkzkj)
A5kl
=% 225
bijrbjri (225)

where a;;1; is the dot product of the cross product of rj; and ry; and the cross product of ry; and ryy. by is the norm of the first cross product and b;; is the norm
of the second cross product. The sine of the dihedral angle between four atoms ¢, j, k and [ is given by

VTR YR 2y (@ (kg2 — Yuezng) — Yji (T2 — Tuezig) + 2ji (TegYue — D)) 026

\/(Ijiykj — wiyi)° + (@jizng — wry2ii)° + Wgizes — ykaji)z\/(l'kjylk — 2iyi)’ + (g2 — Tkzig)” + (Ukg 2 — Yinzng)

sin Hijk.l =

_ dun (227)

~ bijrbie
where d; 1, is the dot product of r;; and the cross product of ry; and ry; multiplied by the norm of ry;.

S1.3.1 Derivatives of Egihedral,ijki

The first and second order derivatives of Eqngle, ;i With respect to the coordinates x, y and z of the participating atoms 7, j and k are:

d d . . d

%Edihedral,ijkl = 2kginearat (— (— €08 051 + cos G?jk) T, €08 Oijir — (= sinfij + sin egjk) a0 Oijni) (228)
d 0oy d . o0y d

@Edihedral,ijkl = 2kdinedral (— (— cos Okt + cos 05, @ cos O;jx1 — (—sinBjp; + sin 0;);,) . sin ;) (229)
d 0oy d . 0y 4

EEdihedral,ijkl = 2kdinedral (— (— €08 Okt + cos 67, 7, cos Oijer — (—sinBjp + sin 67, 7. i O:jkt) (230)
d 0oy d . o0y 4

EEdihedral,ijkl = 2kginearal (— (— cos Oijr1 + cos 0, T CO8 Oijrt — (—sinbjp + sin 67y I Sin Oijk1) (231)

j j j

d 0y d . o0y d

—— Edinedral, ikl = 2Kdinedral (— (— €08 Oyjk1 + €08 031, ) = cos fijry — (— sin Opjps + sin 0 ) — sin 0z ) (232)

dy; dy; dy;
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d d d .
dfszdihedral,ijkz = 2kginedral (— (— €08 0511 + cos 97Jk) i o8 05 — (— sin 051 + sin ewk) i sin ;) (233)
d d d .
mEdihedral,ijkz = 2kginedral (— (— €08 0311 + cos %k) i 086,51 — (— sin 055 + sin %k) i sin ;) (234)
d d d .
T%Edihedral,ijkl = 2kginedrat (— (— cos 051 + cos 0;,) — g Oijrt — (—sinOijp; + sin 6),.) — g S Oijkl) (235)
d d d
T%Edihedral,ijkl = 2kginedral (— (— €08 031 + cos 9”1@) o cos 0kt — (—sin Oy + sin azjk) dzn sin 0;541) (236)
d d . 0y 4.
dfxlEdihedral,z‘jkl = 2kdinedral (— (— cos 031 + cos Quk) s cos Oije1 — (—sinBjp + sin67);,) . Sh (237)
d d d .
@Edihedral,ijkl = 2kginedrat (— (— €0 Ok + cos 0;;) —— un cos Ok — (—sin Ojpr + sin 07, ) —— u; sin 0 k1) (238)
d d d .
%Edihedral,ijkl = 2kginedrat (— (— €08 0kt + cos ;) —— 2 cos Oy — (—sinOjp + sin6;,) — dz sin 0w ) (239)
P2 L& , N d > o d )
@Edihedm,,ijkl = 2k dihedral (— (— cos ;1 + cos Hijk) T2 cos 0511 — (— sin 0;;,; + sin 9ijk> g sin 0,551 + (% cos Hijkl) + (% sin Hijkl) ) (240)
% % [ 1 ?
d? d? d?
dyide, Edinedral,ijit = 2kdinedra (— (— cos 651 + cos 9l]k) dyidz, 080,51 — (— sin ;55 + sin Gl]k) i - $in 0, 1 (241)
d d d
+ — dz; cos kal i cos Gmkl —+ — dz; sin eljk‘l dy: sin G,Jkl)
d2 d2 2
dordi ZEdlhedral ikl = 2kginearal (— (— cos fijr1 + cos 6, dodz cos Ok — (—sin By + sin 67, ) ——— 4oz, sin 011 (242)
d d d d
+ — dr, cos 011 —— 7 cos Ok + — s sin 0; 0 —— 7 sin QUM)
d2 d2 2
dzda, Eginedral,ijit = 2Kdinearal (— (— 08 Oy + cos 05 ) ——— dda, €08 Ok — (—sin Oy + sin ) ——— dn - sin Ok (243)
d d d
+ — dr; cos ;11— iz cos Ok + — dr; sin 0; k1 — e sin 0”;@1)
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d2
d2
2

———— Finedral,ijkl =
dyyda; - Chedligkl = 2kdinedral (— (— €08 011 + cos 0) ———
] k) dy d; - cos Oijrl — (—sinbjp +sin 6y, ) ——
+— ar, cos O;x1 —— Tu. 8 Oijkt + — d sin @ d o e
) i da, in ikl g sin 0;x1 )
E )
dz;dz; dihedral,ijkl = delhedral( (— cos 0 k1 + cos 6 ) &
a ) iik) Gz da, - cos Oijp1 — (= sin Ogjpr + sin 07),) ——— @
ijk
s cos Gmkzd cos Ok + —— sin 6 d o
o, O )
dzrda, dihedral,ijkl = 2kdihedra1( ( cos 01 + cos 0° ) d
) ijk dapda, cos B;x1 — (— sin 0;ju; + sin 6 ’
+ Tcosﬂijkz—c 0 d ij)di
z; day, SO ViIM + ——sind; 'kli i e
dypda, - hedrl.ijkl = 2kginedral (— (— €08 01 + cos 6 ) ——— d’
; ] k) Qyrda; cos 01 — (— sin Oy p; + sin ’
+ - d cos 0; i, — cos 6 Z]k)d
7 gkl 08 0kl + —— sm@ d e
2 m d; ikl —— sin 6
] ; dyk 2]kl)
dzpdir, dihedral,ijkl = 2kdihedra1( ( cos 0; 511 + cos 99 ) &
d d Uk dzda 008 Bijkt — (_ sin 0 + sin 0 i
+ 5 co8Oiju 7 cos d Uk)d
T T dz 08 0351 + —— sin 6;; . e
LE dCCZ 7kl de S11 kal)
da,dz, dihedral ijkl = 2kdihedra1( ( cos 0551 + cos 0° ) X
. h ) 1) Gord; C° Ok — (—sinO;jp + sin 69, ) ——— ’
dx; cos Ok —— dx; o8 0 + —— sin @ d o
LE d Z]k‘ld 1 Slnﬁijkl)
dyrda, = hedralijkl = 2kdinedral (— (— €08 041 + cos 65, &
d d k) dyda; < Oijrt — (= sin Oy + sin i
+ TCOSQi‘kl 0 d Uk)d
; I cos Oijrl + — sm9 il —— d e
dzd; dihedral,ijkl = deihedral( ( CcOoSs kal + CObo ) X
d d ) ooz, €08 ikt — (= sinbijp +siné i
+ 700591"]61— d z]k)d
dr, il g, €08 Oijk1 + — sinb;; A i
d.’ﬂi 7kl le Sin Hijk:l)

sm szkl

51n eijkl

sin szkl

sin 9”;@[

sin Hijkl

sin Hijk:l

sin Hijk:l

sin oi]‘kl

(244)

(245)

(246)

(247)

(248)

(249)

(250)

251)
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d? 2
d 2
i 2Ed1hedral ikt = 2Kdinedral (— (— €08 O + cos 0;4) —— 07 cos 01 — (—sin Oyjp; + sin 67;,) CZ/ sin 01
d 2 d . 2 Z
+ (d—% cosOji)” + (dT;z sin;jp)”)
d? 2
—  FEg S A d d?
dzdy; dihedral,ij ki kahedral( ( cos 01 + cos 9”1@) dzdy, cos O;jx1 — (— sin ;41 + sin 91]k>7dz 7 sin 651
d d d d 1 AY;
+ — ™ cos 0; 11— 7 cos 01 + — a; sin 0; 40— 7 sin szkl)
LE 2k d2 d2
dz, dy; dihedral,ijkl = dlhedral( ( cos 01 + cos 9”k) dysde, cos 0;j11 — (— sin 0; k1 + sin 9”,6) dydz; sin 051
d d d d
+ — iz, cos 01— v cos 051 + — e sin 05— v sin 9zykl)
d2 E 2k d2 d2
dy;dy; dihedral,ijkl = 2Kdinedral (— (— €08 Oy + cos Guk) dy,dy, 08 Ok — (— sin 055 + sin HWk) dyydyn sin 0; 1
d d d d
+— ay cos 0,51 — iy, cos 0k + — ay sin 65— Iy, sin ;)
Aggig,lg. — 2%k d? d?
Tz, Caiearalighl = dginedral (— (— €08 0ijx1 + cos 0)),) =—— Tody, €08 Ojk1 — (—sin Oy + sin6y,) ——— T sin 05
d d d
+ — v cosﬁwkld - cos Ok + — v Slné’”kld - sm@wkl)
d? 2
" B I Y d d?
dzdy; dihedral,ijkl delhedral( ( COos ez]kl + cos 92]1{:) dysdan Ccos Hijk:l — ( sin (gzgkl + sin ezgk) dysdzn sin eijkl
d d d d
+ — e cos 0; 11— a; cos Ojjp + — o sin 61— ™ sin ‘92]191)
d? 2
" B il = 2k d d?
dydy,dibedmliiskl Kdinedral (— (— cos 031 + cos 9”1@) dundy; cos Ok — (— sin 65 + sin Gmk) Jdin sin 0; 1
d d '
+ — cos 05— cos 011 + i sin 6; »kli sin 6; ; )
dyi dyr dy; I dyg ikt
d? 2
— F. ikl = ks d d2
dzrdy; dihedral,ijkl kdlhedral( ( COSs ezjkl =+ cos eljk) dondy; CcOos Hijkl — (— sin ewkl + sin 9”,6) dondyr sin eijkl
d d '
+ — cos ;11— cos Oy + — d Sin ;. —— d sin 6 )
dy; dzy, Ty T ey ikl

(252)

(253)

(254)

(255)

(256)

(257)

(258)

(259)
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d? 2 9

dnrd Eginedral,ijit = 2Kdincaral (— (— o8 01 + cos 0, ) ——— dynda; < Oijit — (= sinfijp + sin 07),) ——— e, sin 0,k
d d d d
+ — . o8 0,51 — a cos 0k + — i sin 60— ay sin ;)
d2 d2 2
dydys Edinedra,ijiet = 2kdinedra (— (— cos ;51 + cos 9”1@) durdy; cos b1 — (— sin;jp + sin 9”,@) Tnds: sin 0;
d d d d
b o8 Oy 08 150 + —— sin s~ sin 0,
dyi COS Ujjkl dyl COS Ujjkl + dyl SN Uikl dyl sin 074]]@[)
d2 d2 d2
Tadss Eginedralijht = 2kdinearal (— (— €08 0ijx1 + cos 07, ) —— Trd c0os O;j1 — (—sin Oy + sin 0 ) —— - sin 0,1
d d d . d .
+ o cos Gijkld—Zl cos 011 + m sin eijkldizl sin 0 )

d2 d2 d2
_ 0 : . .
12 Eginearal,ijkt = 2Kdineara (— (— cos 0551 + cos 07, 7.2 08 Oijrt — (—sinOijr; + sin 67, S sin e
@ i

d d
+ (E COS eijkl)z + (E Sinf)ijkl)Q)

d2 d2 d2
WEdlhedml ikl = 2kd1hedrdl( ( cos 0;jx1 + cos 9%) Tondr, - cos Ok — ( sin 6,1 + sin ewk) dosdi, - sin 0,
d d d
+ = dz; cos ezjkld cos Ojp + — . Smewkld sm@wkl)
d2 0 d2 )
dy,dz, ———— Exinedral,ijkl = 2kdineara (— (— c0s Oijx1 + cos 07);,) Tondy, cos Ok — (—sinbyjp + sin 67, ) —— oy, sin 05
d d d
+ — Iy 08 01— 7 cos O;jp + — a sin 6,5 — - sin HUM)
J Zq
d2 d2 d2
&=z, ———— Euinedrat,ijkt = 2kdinedral (— (— €08 ijr1 + cos 07);,) =—— e €08 Ok — (—sin Oy + sin 6y, ) —— o d sin 0,k
d d d d
+ — e cos eleld - cos Ok + — az sin kald - sin szkl)
d2 d2 2
donde, Eginedral,ijkl = 2Kaineara (— (— €08 0351 + cos 67, Do OO Oijrt — (—sinbOijp + sin6y,) ——— Todn sin 0
d d d d
+— o cos ewkld cos Ok + — o sin e”kld sin 05k

(260)

261)

(262)

(263)

(264)

(265)

(266)

(267)
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d72E ) =9k d? d?
dyedz; dihedral,ijki = dihedral( ( cos 051 + cos ka) Do cos Oyx1 — ( sin 6;;x1 + sin Gljk) Tdun
d d d d
+ — o cos GWM 7 cos kal + — o sin G,Jkld - sin GUH)
LE . ok 0 d? d?
Doy o, Daineara ighl = dgihedral (— (— €08 O35k + cos 07y, - cos O — (—sin by +sin 09,) ——
g . dzrdz; Ik Q2dz;
il g d . d .
+ Zz cos azjkldizk cos 011 + i Sln@ijkld—Zk Sln@ijkl)
dizE . =9k d? d?
dzidz: dihedral,ijkl = dihedral( ( cos 01,1 + cos ewk) Tndi cos 0,k — ( sin 0,51 + sin Gl]k) Tde,
d d
+ dr l005az]kl dz COboz]kl + dr lSlnemkld blneukl)
iE . =9k d? d?
dyidz; dihedral,ijkl = dlhedral( (— cos 0;j11 + cos e”k)fzzd cos 01 — (— sin 6;z; + sin Gl]k) 7dzld
d d d
+ — a cos&ljkld cos O;jr + — a Smewkld sm&ukl)
LE . = 9k d? d?
Toydlz, inearal ighl = dinedral (— (— €08 031 + cos Gl]k) - 08 01 — (— sin O;55 + sin 07 k)
d Zldzz J Zlei
d . d
+— 7 cos owkld cos O;jp + — 7 sin eijkldizl sin ;51

2
d 2 2

sin Gijkl

sin Gijkl

sin Gijk.l

sin Hijkl

sin 0ijkl

——5 Edinedral,ijkl = 2Kdi 0.) o -
Jijkl al(—(—cos0;; k) = ikl — i i i
dz2 ij dlhedral( ( kal -+ cos azgk) dz2 COs HUM (— Sin Gijkl -+ sin Q?Jk) o Sin Qijkl
J i
J

d
+ (5— cos Gijkl)z + (di sin Gijkl)z)
Ty

dl‘j
d2 P d2 2
dy,dz, dihedral,ijkl = 2Kdinedral (— (— €08 031 + cos 91];6) dy;dz, - o8 bk — (—sin 6z + sin ka) dy;dz,
d d d d
+ — iz, cos 01— i cos Ok + — iz, - sin Oijri—— a; sin kal)
d2 g d2 2
dz,dz, diedral,ijkl = 2kdinedral (— (— €08 051 + cos ka) dz;dz; - €08 Okt — (= sinfyjm + sin 9”k) d dd
d d d
+ — iz cos 01— e cos Ojr + — P sin 61— i sin 9”1@1)

sm Okt

sin 65

(268)

(269)

(270)

271)

(272)

(273)

(274)

275)
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d? d? d?

dende, Edinedraijil = 2kdinedra (— (— cos ;51 + cos ezjk) dzpda; o861 — (— sin i + sin ezjk) dapd;
j j j
d d d d
—— €08 0,11 —— cos 0;; ——sinf;;p;— sin 6;;
+ dl‘]‘ ijkl dl‘k ijkl + d.]?j ijkl dl‘k ijl)
d2 d2 2
dyrdr; Eginedral,ijit = 2Kdincaral (— (— 08 O + cos 005 ) ——— dynd, €08 Ok — (—sin Oy + sin 0 ) ——— dyrdr;
j j j
d d d
—— cos B —— cos b, —— sinf; ;5 — sin 6;;
+ d.’l?j ijkl dyk ijkl + dLIJj ijkl dyk 7.]kl)
a2 2 2
Tondz, Egincaral,ijkl = 2kdinearal (— (— €08 35x1 + cos 6;;,) ——— Tondr, - €08 0k — (= sinbyjp; + sin 05, ) ——— donds
j j
d d . d .
+ @ COS 0ljkla COS eukl + E S 07Jkld72k S1n eijkl)
&2 2 2
drnde, Edinedral,ijkt = 2kdinedral (— (— cos 051 + cos euk) dryda; cos Ok — (— sin 055 + sin ka) drd,
j j
d d d . d .
+ E COS Gijkl% (¢0)] aijkl + % sSin Gijkl% Sin eijkl)
d? d? d?
dydz, Edinedral,ijki = 2kdinedral (— (— €08 051 + cos euk) dyidz, - cos bjk1 — (—sin by + sin QUIC) dynde;
j
d d d d
+ e Ok — an cos 051 + — T sin 6,k — an sin ;)
j Zj
d? d? d?
dads, Edinedral,ijki = 2kdinedral (— (— cos 051 + cos 9”k) dmade, - cos b1 — (—sin by + sin 9”;@) T
J j
d d . d .
+ d—x] cos Hijkld—Zl cos 0511 + E sin Hijkld—zl sin Gijkl)

d2 2 2

sin 6l-jkl

sin Hijkl

sin oijkl

sin eijkl

sm eijkl

sin 651

d . : d= .
gl Eginedral,ijit = 2kainearal (— (— 08 O + cos 0, ) a2 o Oijit — (— sinijr + sin 67, a2 o Oijki
j J J

d 2 d . 2
(dyJ cosb;jr)” + (% sin O5x1) ")

(276)

277)

(278)

(279)

(280)

(281)

(282)
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d2 d2 2

0 : 90
mEdihedral,ijkl = 2kinedral (— (— €08 Okt + cos 67, &zydy,; cos Oijr1 — (—sinOyjp; + sin 6;),) &z;dy,;
d d d d
—— o8 0,k — cos B;; —— 8in 6 —— sin 6;;
+ dy] ijkl de ijkl + dy_] ijkl de 7.jkl)
d2 0 d2 . . 0 2
dordy,; Eginedral,ijkt = 2Kdinearal (— (— cos Oijw1 + cos 07, ) dy;dar, cos Oijpt — (—sinOyjp; + sin 0y, dy;dz
d d d d
—— 08 03— cos B, ——sin b, — sin 6,
+ d.l?k ijkl dy] ijkl + dl‘k ijkl dy_] 7.jkl)
2 0 d2 0 d2
FEgi ikl = 2kg; —(—cosb;; cosB; ) ————cosB;ip — (—sinb;,; sinf;., ) ———
dykdyj dihedral,ijkl dlhedral( ( ijkl + ”k) dykdyj ijkl ( ijkl + s1 Uk) dykdy]
d d d d
—— cos 0,5k —— cos b;; ——8in 6 —— sin 6,
+ dy] ijkl dyk ijkl + dy_] ijkl dyk 7.]kl)
d2 o d2 ) ] o d2
Tondy; Eginedrat,ijkt = 2Kaineara (— (— cos iz + cos 07y, Tondy, cos O;jx1 — (—sinijp; + sin 0;);,) Tondy;
d d d d
—— co8 6,k —— cos 0;; —— sin@; g —— sin6;;
+ dy] ijkl de ijkl + dy] ijkl de; l]kl)
d? 0 @ . 0 2
dudy; Edinedral ikl = 2Kainearat (— (— cos 0ijx1 + cos 6, dydn, cos Oy — (—sin Oyjp; + sin67;;,) dy;dz
d d d d
—— €08 03— cos B, —— sin b, — sin 6, ;
+ d.]?l ikl dy] ijkl + dl‘l ijkl dy] 2]kl)
2 o d2 o d2
Flinedral.iikl = 2Kdihedral (— (— cos 8, cosB; ., )———cosO;i — (—sinb;; sinf:., ) ———
dyldy_j dihedral,ijkl dlhEdrd]( ( ijkl + 'ij;) dyldy] ijkl ( ijkl + Uk) dyldy]
d d d d
—— 08 0; i1 —— cosO;,; ——sinf;;p; — sin6;;
+ dy_, ijkl dyl ijkl + dyJ ijkl dyl 1]kl)
d2 2 2

dzdy; dzdy;

d d d . d .
+ E cos aijkldizl cos O;jx1 + % sin gijkldizl sin Gijkl)

d d
0 : .00
Eginedratijki = 2Kdinedra (— (— cos iz + cos 07y, cos O;jx1 — (—sinBijp; + sin 0);,) dady
J

sin eijkl

sin Gijkl

sin eijkl

sin Gijkl

sin Hijkl

sin 0y

sin Gijkl

(283)

(284)

(285)

(286)

(287)

(288)

(289)
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d d? d? d 2
TZ?Edihedral,ijkl = 2kginedral (— (— €08 051 + cos 07;;) —— a2 cos Ok — (—sin Oy + sin 6, ) —— e sin b5 + (dzj cos O3kt
d . 2
+ (a sin Gijkl) )
d2 d2 d2
. Eginedral,ijit = 2kaineara (— (— cos O + cos 0, ) Toydor cos k1 — (—sin O + sin 6;;) ———— Tosdon sin 05
d d d d
+ — i cos 01— i cos 0;p + — i bln@ukld % blnﬁukl)
d2 d2 d2
dyndz,; Eginedral, ikl = 2Kainearal (— (— cos 051 + cos 0;) ——— = cos Oijri — (= sin Oyjp; + sin 07;;) ——— =i Sin 0;j1
d d d d
+ — o cos Hukld % cos 01 + — o Smewkld % s1n9ukl)
d2 d2 d2
Tz, Eginedral,ijit = 2kainearal (— (— c0s O + cos 0, ) Tond, cos Ok — (— sin B3 + sin szk)idedz sin 0,k
d d d d
+ a cos eijkld o cos Ojjr + — i sin 6k —— T sin Gijkl)
d2 d2 d2
dudz, Eginedral,ijki = 2Kdinearal (— (— cos Ojx1 + cos 9”1@) &ydan cos O;ji — (— sin b5 + sin 911k> Tz da sin 0; k1
d d d d
+ — . cos 01— i cos Ok + — d; sin awkld = sin szkl)
d2 d2 d2
WEdihedral,ijkl = 2kginedral (— (— €08 051 + cos Hmk) = dy, cos 01 — (— sin 65 + sin ka) pE— sin 0; k1
J
d d d d
+ — a cos ewkld - cos O;jr + — i sin kald - sin kal)
d2 d2 d2
dadz, Edinedral ijkt = 2Kainedral (— (— €08 0511 + cos 0, ) ——— Tz, ©° Oijkr — (—sin Ojps + sin 07))) ——— Tz, Oijki
d d d
+ a cos gijkld - cos Ok + — i sin aljkld 2 Smﬁijkl)

(290)

(291)

(292)

(293)

(294)

(295)

(296)
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d? d? d? d 2
T%%Edihedral,ijkl = 2kginedral (— (— €08 031 + cos eljk) d? cos O — (—sin by + sin ezjk) dz? sin O + (dxk cos ;1)
d . 2
d2 2 d2
mEdihedral,ijkl = deihedral( ( cos ;511 + cos aljk) dyedan cos Ok — ( sin 0;jx; + sin GZJk) dyrdzy sin 0k
d d d . d .
+ m COS Gijle% COS kal + T% Sin ezjle% S1n eijkl)
d2 2 2
dondin Edinedral,ijkt = 2Kainedral (— (— €08 Oyjk1 + cos 07),) ———— Tondry °° Oijrt — (—sinOijz; + sin 67, Dondan sin ;1
d d d d .
+ azr cos Hijle% cos 0; 11 + - sin eijkldizk sin Gijkl)
d2 2 2
dryden Eldinedral,ijkl = 2kdihedral( ( cos 0;j11 + cos 9Uk) dzrdas cos Ok — ( sin 0k + sin HZJk) dzidzr sin 0k
d d
+ e cos Hijk;ld cos Ok + — o sin ewkld m sin ;)
d2 d2 2
WEdihedral,ijkl = 2kdinedrat (— (— €08 031 + cos 9”1@) dyidi cos Oijn — (= sin Oy + sin ezjk) dyday sin 0k
d d d d
—— c08 01— cos0;; ——sin ;5 — sin 0;;
+ dl‘k ijkl dyl ikl + dxk ikl dyl 'ijl)
a2 2 2
dordan FEdinearal,ijkl = 2kdinearal (— (— cos ;51 + cos emk) dzdar cos Ok — (= sin by + sin 6z]k) dzday sin O
d d d d .
+ — o cos QZJMd cos b,k + — o sin Hijkld—Zl sin 0k )
“ B, = kg 0 0 )" cost 0 0L o D os0;0)°
dT;,% dihedral,ijkl = d1hedra1< (— €0os 05k + COs ”k) dy,% COSUijkl — (— sin 05 + sin ”k) dy,% SN 05k + (T% Cos ijkl)
d . 2
+ (T% S Qijkl) )
d? d? d?
mEdihedral,ijkl = 2kdinedral (— (— €08 ;1 + cos 9131@) dzndyr cos Ok — (= sin Oy + sin emk) dzrdyr sin 0;jx1
d d d d
+ — o cos ewkld o cos Ojr + — ” sin ewkld o sin Omkl)

(297)

(298)

(299)

(300)

(301)

(302)

(303)

(304)
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d2

dz?

d2 d2 2

0 . .0 .
durdun Eginedrat,ijkt = 2kdinedra (— (— €0 0511 + cos 07y, dynd cos O;jx1 — (—sinBjp; + sin 60;);,) dynd, sin 65
d d d . d .
+ Tﬂ COS aijkl@ COS oijkl + Tm S eljle% S Gl]kl)
22 . 2 . 22
Y g = Ok (— cos b OV 080 — (—sin B ing0 ) — ing..
dyrdy, Beara ik dihedral (— (— €os O35x1 + cos 07, durday, €5 P (= sin Ojp + sin 67, dyrdyy, S0tk
d d d . d
+ @ COs eijkl@ COs 9ijkl + @ S eijleyl S ﬁijkl)
d2 0 d2 o d2
dadin Eginedrat,ijkt = 2kdinedral (— (— €08 0511 + cos 07y, dardur cos O;jp1 — (—sinBjp + sin 6;),) dardyn sin 0; k1
d d . d |
+ dT/k cos oijkldel cos 0511 + Tyk sin aijkl% sin eijkl)

d? d? d?
0 . . 0 .
@Edihedral,ijkl = 2kdinedral (— (— €08 ;1 + cos Hijk) 7.2 908 Oijw — (= sin i + sin eijk) 225 Oijki
k k k

d d
+ (=— cos az‘jkl)2 + (— Sin9ijk1)2)

dzk de
i E, =2k 0 69 @2 0 in 6 in#Y LA 0
dzrden dihedral ijkl = dihedral(_(_ cos U1 + cos ”k)m cosUijr1 — (— sin Uy + sin ijk;)mSIH ijkl
d d d d
+ —cos 81— cos b + — sinb; i — sin 0;;
dl’l ijkl de gkl da?l ijkl dZ}c Ukl)
d2 . 2 . 2
mEdihedral,ijkl = 2kginearat (— (— €08 051 + cos ) dondin cos Ok — (—sin by + sin eijk) dondyr sin Bk
d d d d
+ —co80;ip— cos b1 + — sin ;i — sin 0, ;
dyl ijkl de ijkl dyl ijkl de ’ij?l)
d2 2 d2
Edinedral,ijkt = 2kdinedral (— (— cos 051 + cos 9%;@) Tador cos Ok — (— sin 055 + sin H?jk) dadon sin 6 1

le de

d d d d .
+ % cos Hijkld—Zl cos 0k + d—Zk sin Hijkld—Zl sin Qijkl)

2 2

d . : = . d 2 d . 2
Edihedral,ijkl = 2kdihedral (—(— COS Gijkl + cos G%k) ——5 COS Qijkl — (— sin Gijkl —+ sin Gg’jk) W sin Hijkl + (7 COs Gijkl) + (CT’EZ sin oijkl) )
l

dz? dx;

(305)

(306)

(307)

(308)

(309)

(310)

(311)

(312)

WSLIOWOSI0219]S Jo 11oddng [[ng yitm SO[NOQOJA d1ueSI() pue drueSIou] I0J IOYTIUSP] JB[NOS[OIN V Teg[ON IS



9¢S

d2 2 2

dydz Eginedral,ijkt = 2Kdincaral (— (— cos 01 + cos 05, ) dydan cos Ok — (—sin Oy + sin 6;,) dundiny sin 6051 (313)
d d d . d .
+ d7$l (o)) gijleyl COSs Hijkl + diwl Sin aijkl?yl Sin Hijkl)
& . & . &
Ao Edinedrat,ijkt = 2Kdinedral (— (— €0 Oy + cos 07y, dudns cos b — (— sin;jx + sin eijk)idzld:cl sin 0 (314)
d d d d .
+ d7:El Cos eijkldizl cos Okt + TM sin eijkldel sin Hijkl)
d2 d2 d2
dTleEdihedral,ijkl = 2kginearat (— (— €08 051 + cos G?jk) dTJf cos Ok — (—sin By + sin 67,) @ sin 051 (315)
d 2 d . 2
—+ (diyl COS gijkl) -+ (Tm Sin Gijkl) )
2 o & o &
———— Edihedral,ijki = 2Kdinedra (— (— cos 0;; 0:51) 5 cos Ok — (—sin by, in @) ———— sin6;; 316
dzdy; dihedral ikl dihed: 1( ( cos k1 + cos ]k) dardin cos 0k ( s ;551 + sin ]k) dardy sin 01 ( )
d d d . d .
+ d7yl COS oijkldizl COS eijkl + d7yl Sin gijkldizl Sin Gijkl)
2 o & o &
TZ?Edihedral,ijkl = 2kginedral (— (— €08 051 + cos 07, = cos O;jx1 — (— sinbjr + sin 67, = sin 0; k1 (317)
d 2 d . 2
+ (del cosOyjm)” + (dizl sin0;ju)”)

The derivatives of cos 0;;; and sin 6;;5; with respect to the coordinates x, i and z of the participating atoms ¢, j, k and [ are defined in Section@ The derivatives
of cos 0;1; and sin 61, are identical, except for interchanging a;jk! and d; jkl.
S1.3.2 Derivatives of cos 0,

The first and second order derivatives of cos 0;;1; with respect to the coordinates x, y and z of the participating atoms 4, j, k and [ are:

d d
d =4kt gy Dijk + bijk g Qighi
— cos Oii1 = —> : (318)
d:L',; bijkcjkl

d d
—ijki 7, -bijk + bijk g Qijki
v v (319)

—— cos Bk =

2
dy; b,'jkcjkl
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d2

dz?

3

dCL‘j

dy;

—cos O;j5 =
dz Y

d
——c0s 051 =

d
— COS aijkl =

——cos b1 =

dl‘k

—cos O;jk = 55
dyx b3k Cik
d d d
—ijkibijh g5 Cikl — QijkiCikl g5 Vijh + DijhCiki g5 ijki
—— COS oi]‘kl = 5
dz, b3k ik
d d
—Qijkl gy Cikl T Cikl gy ikl
T cos 051 = o2
Z i5kCjki
d d
d —Qijki gy, Cikl T Cikl gy Qigkl
7d COS aijkl = b 5
Yi ik Cikl
d d
d —Qijkl g, Cikl T Cikl g7 Gigkl
d—cosQijkl = o2
21 ik Ckl
d? d? d d d
—@ijkl 75z bijk + bijr gz Qi 2 (_aijkldTaibijk + bijdegiaijkl) Zo7 biik
cos 011 = L ! -

d
—— cos Ok =

d d
=ikl g5 bijr + bijk g Qijkl

. 2 .
i bijkcjkl

d d d
—@ijktbijk ggs Cikl = QigklCikl gy Oijk & bijkCikl go- Giki

2 2
bijkcjkl

d d d
*aijkzbijkacjkl - aijklcjkl@jbijk + bijkcjkl@jaijkl

2 2
bijkcjkl

d d d
—Qijr1bijk 3z; Cikl — aijklcjklgjbijk + bijkcjkldjjaijkl

2 2
bijkcjkl

d d d
—4jkibijh gy Cikl — QijkiCikl gy Vigk T bijkCikl gor Gijki

2 2
bijkcjkl

d d d
—@ijkibijk g - Cikl — QijkiCikl gy-bijk + bijkCikt gy Gijkl

2 . 3 o
bijrCikl b7 Cikl

(320)

(321)

(322)

(323)

(324)

(325)

(326)

(327)

(328)

(329)
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d? d? d d d d D o d dp. .
d? 0 _ _aijklmbijk + bijkmaijkl + Eaijklfwbijk - Twaijklfmbijk 2 ( Aijkl Gy, bl]k + bljk du; Yigkl ay; bz]k 331
dyida; 5T b2 c; N Boc; (331)
Yiax; ijkCikl ijkCikl
d? d? d d d d DR N oo d dy. .
d? 0. _aijklmbijk + bijkmaijkl + Eaijkldfmbijk - Tziaijkldfmiszk 2 ( Qijkl qa; bijk =+ bijk da; Vigkl | Tz; biji 132
dzdz; 7R b2 c; B b3, c; (332)
1l ijkCIkl ijkCIkl
d? d? d d d d
d? —Qijkl g g7 Vigk + Yigh gy Gkl Gor Gigki go; Vigk — oy ikl g Vigk
———cos i = 5 (333)
dxjdxi bijijkl
d d d
(_aijklchibijk + bz‘jkrmiaijkl) Ty Cikl
- 2 2
bijkzcjkl
d d d
2 (*aijklrxibijk + biji Eaijkl> Ebijk
_ —
bijkcﬂcl
d? d? d d d d
d2 —Qijkl g, g Vigk T Yijh gy oy Qigkt T gy Gigkt gz Vijk — - Gijki g bijk
———cos Ok = : : 5 : (334)
dyjd(Ei bijkcjkl
d d d
(_aijkldTEibijk + bijdeiaijkl) ay; Cikl
- 2 2
b7k Gl
d d d
2 (_aijklrxiszk + bijkTmaijkl) ay; Didk
_ —
b7 Ciki
d? d? d d d d
d? — ikl gz, g; Digk + Dijk gz gy Gight + g7 Qighl go7 bigh — 3o Gijhi gy Dijk
——— cos 01 = 5 (335)
ded.%‘i bijkcjkl

d d d
(—aijkzmbijk + biji chiaijkl) 3z Cikl

2 2
bijkcjkl

d d d
2 (_aijkldTCibijk + bijkrmaijkl) Ebijk

E
b} Cikl
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42 i —E p d?
ik Tz Vg T Vi o, Gkl T g Gk day ; g
o 1 Y a biir — —d g d
dxpdz; 08 0,1 — e 43K g Vi — oy ikl e Vs

2
bijkcjkl

PP Ay ood d
( Qijki gy bigh + szkmaijkl) Toy Cikl

> 2
bijkcjkl

2(_ oo d oy o d d
ikl dz; bz]k + bz]k: Tmaijkl dzy, bz7k

3
bjjCiki
d? —aijr g e b + bij g e i + g 4 b d 4
o N y 4, dyp _d o d
dyrdz; cos O;jr1 = . fotr ”2 Gy DM Gy W9 ™ Gy i G Vi
bijkcjkl
d
— i b o4 d
B ( ikl gz, bmk +szk dz; aijk:l) @Cjkl
2 2
bijkcjkl
2(—(1-- dp.. ood d
- ikt g igh & bijk gr Qg | 3= bijik
3
bijkcjkl
a2 i —2 p d?
K g igk T+ Digk Akl + 7 ijri 7 bijk — 7 4
— dmCOSezjkz _ wda; dzpda; Yigkl T o, Qigkl g5, bijk dzkaijkldTibijk
kWL b2
17k Cakl
d
— i =D ood d
- ( ijkl Zo; Digh +szkdxiaijkl) 2= Cikl
2 2
bijkcjkl
2(—a-- d oy o4 d
- ikl g7 bigk + bighk g Gight ) g5 bigh
3
bijkcjkl
a2 i — 42 d d d
ijk T Gijhl — Ty Gijhl 75 Dij —@ijkl g bij S
dzxdz; cos O;x1 = zydw; 5 da; Y13kl ga; Vigk ik o, Oigh + Digk G Gight ) g Cimt
i bijkcjkl b2 62
ijk ikl
2
22 biin ;i d d d
_d . dg Ay d
Cos@ijkl: 1k dy dx; ijkl dylazjkldxibuk awkldziblik—’_biﬂ-kﬁaijkl) dicjkl
dyydz; b2 B 1 -
TikCikl b
ik~ ikl
a2 bio 4 d d d
ijk T g Qijkl — 3o Qijkl g0 ij —@ijkl gg; Vi ik T Qi) o
dzidzx; cos Bk = zda; I 5 dz ikl ge; Vigk ikl G ’Jk_‘_b”kda:i Qijkl ) Gz Gkl
( bijkcjkl b2 2
ijk ikl

(336)

(337)
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d? a2 i p. od o) A
d2 _aijklwbijk + bijk@aijkl 2 ( A5kl dy; bz]k + bzgk dy; azykl) dy; bzyk

— cos B = _
2 ij Sy 3
dy; bijkcjkl bijkcjkl
d? d? d d d d
d? —Qijkl gy Vigk T bigh gy, Gigkl T 37 Gijkl 3oy bigk — 5 @ikl gy bigk
dz;dy cos Oignt = b2 c
1Yi ijkCikl
d d d
2 (_aijlcldThbijk + biji Tyiaz’jkl) 2= ijk
_ —
bz’jkcjkl
° iy b b g A Ay d g dg
d 1kl @y, dx; Viik 1k Qy;day VIR T Guy Vigkl gy, Yigk T Gy, Yigkl g Yik
———cos O = 5
dx;dy; bikCiki
d d d
(_aijle%bijk + bijdeﬁaijkl) Ta; Cikl
- 2 2
bijkcjkl
d d d
2 (_aijklfwbijk + bijkT%aijkl) T Vigk
_ —
bijkc]kl
o d o d? dg oo dy o d o dy
d? 080,101 = T Qigkl gy dy; bijk + bijk dy; dy; Yigkl =+ dy; Vigkl gy bijk dy; Vidkl Gy bijk
1] -
dy;dy; b7 Cikl
d d d
- (—aijkl@bijk + biji Twaijkl> ay; Cikl
> 2
bijkcjkl
d d d
2 (*aijkzdfyibijk + bijk@(h’jkl) ay; Digk
_ —
bz’jkcjkl
d? d? d d d d
d? —Qijkl g gy Digk + bigh g gy; @ikt + Gy; Gigki g5z Digk — 3o Gajkl g7 Digk
——— cosO;jm = 5
dz;dy; bijkcjkl

d d d
(-aijkz@bijk + bijdeMQijkl) 3z Cikl

> 2
bijkcjkl

d d d
2 (—az‘jkz@bijk + bijk Eai]‘kl) djjbijk

3 o
bjjCini

(342)
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P2 gt b 02 d
il = bijk + bijk T Qija — 7 i dy.. d 4., d
- cos Qijkl _ y:dzs 1k Qy;dx s, 17kl dzy, ikl dy; bzyk + dy; ikl dzy, bijk
dxpdy; b2
ik Cikl
. d d
Qiing =L b ood oo d
B ( ijkl dy; bz]k +szk dy; azﬂcl) dzy Cikl
2 2
bijkcjkl
2<_ oAy o4 d
- @ijkt g7 bigh + Dijiegy; Qight ) gor bijk
3
bijk:cjkl
2
22 —aiin by d? d
. T Gy dy; ijk + Vijk g Qi+ g L b — a2
—— _CObeijkl _ yrdyi Ik Ay dy; “iIkL T Gy, ”kldykb”k dykaZJlewbijk
Yrdy; b2, Ciki
ijkCI
o d d
Qiing =L b od oo d
B ( ikl dy; bz]k +bz]k dy; az]kl) dyr Cikl
2 2
b3k G
2 —aqiing - b o4 d
- A5kl dy; bzﬂc + szk dy; Qijkl dys bijk:
3
bk Cikt
2
a2 i b R d
‘ el bijk + bijk i Qijr + 7 ag; Ay d, . d
y lcosaijkl _ 21 dY; Ik Az dy; ijkl dy; ijkl dzr bzyk dzr, azgkldT/ibijk
21 dy; b2, ¢
ik Cikl
d d
i - b o4 d
3 ( 5kl gy, bz]k +bzﬂc dy; az]k’l) dzy, Cikl
2 2
bvﬁjkcjkl
M —aiir =L b, oo d d
B ikl dy; szk + bz]k dy; ikl abuk
3
bijkcjkl
2
2 biip gy — dg ( d d
dxdy cos O = Ik dy;du, ”ké da; Vil qy; ik B a”’“ldyzb”k+b”kdyiaijkl) da; Gkl
1aY; bz, c;
ij bz]kcjkl
2
22 biin o aiipg — & aipg-d-bi; —a;in - b; d
dy,d cos 01 = I dyidy; Z]ké dyza”kldyibwk a’Jkldyibljk+bijkd7waijkl) d%zcjkl
Yiay; bs..cj a ‘ ‘
i Cikl 22
ijkCi bijkcjkl
2
22 biin o aiint — -2 -2 by; —a;in - b; d
dzd COseim: ik Tz dy; Vigkl dea”kldyib”k al]kldyibljk+bijk@aijkl) dizlcjkl
21dy; b2, ¢ B (
i Cikl 2 C2
ijkCi bijkcjkl

(347)
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d? d? d d d
d2 ; —Qijkt gz bijk + bijk T Qijrr 2 (—aijklrzibijk + biji Tziaijkl) 2= bijk
——5 COS Uik = - - -
3 ij SR 3
dz; bijkcakl bijkcjkl
d? d? d d d d
d? o d ikl gz, dw; Vi Vi Gz pd; Gighl = goy Gighl g7 Digh + 3z Gijkl g bigk
— ikl = 5
dx;dz; bijkcjkl

d d d
(—aijklrzibijk + biji Tziaijkl) Tu; Cikl

2 2
bijkcjkl

d d d
2 (*aijkldjibijk + bijkaaijkl) Ebijk

3
bijkcjkl
2 = b g A Ay d g d
d cos0 ikl dz;dy; ijk ijk dz;dy; Qijkl dy; ikl dz; ijk dz; ikl dy; ijk
v e
dy;dz; “ b2 cs
g ijk Jkl
d d d
(*aijkzabijk + bijk@%jkl) ay; Cikl
- 2 2
bijkcjkl
d d d
2 (—aijkldjibijk + biji Tziaijkl) @jbijk
_ —
bijkcjkl
d? d? d d d d
@ —Qijkl gz gz Vigk 1 bigh gz az; Gight + 35 Gkl g5z Dk — 35> Gigkl g7 Dijik
- ijkl =
dz;dz; * b2, ¢
7 ijkCIkl

d d d
(—aijkldjibijk =+ bijk djiaz’jkz) z; Cikl

2 2
bz’jkcjkl

d d d
2 (-aijkldjibijk + bijkdjiaijkl) 3z; Vidk

3 .
byjrCikl

(353)

(354)

(355)

(356)
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2 2

2 g4 . a0 d oo dop da ... d g

d Qijkl dzidzr bl]k? + bzyk dzidzr A5kl dzr A5kl dz; bz]k + dz; Qijkl dzy, bz_]k

———cos ;i =
drrdz;

2 .
bijkcjkl

d d d
(-ai]‘kzdjibijk + bijkdle,aijkl) To=Cjki

> 2
bijkcjkl

d d d
2 (—aijudjibijk + bijik djiaijkz) Jar bigh

3 .
bijkcjkl
2 2
2 .. d - . d . d o dp da . . dyp
d cos 0 . ikl dz:dys bzgk: + buk dz:dys ikl dys ikl dz; bz]k + dz; ikl dys bz]k
i ijkl — 5
dykdzz bijkcjkl
d d d
<—aijkzd7ibijk + bijkdfziaijkl) Tyr Cikl
- 2 2
bijkcjkl
d d d
2 (-aijk;zrzibijk + bijkdfziaijka aur Dijk
_ —
bijkcjkl
2 2
2 . d - o d - da, . dyp _d o dy
d cos 6 . A5kl dzrdz; bz]k + bzgk dzidz; Aijkl + dz; A5kl dzr, bmk dzr A5kl dz; bzyk
T ijkl = 5
dzdz; bij/ccjkl
d d d
(—az‘jkldfzibijk + bijik dfziaijkz) 2= Cikl
- 2 2
bijkcjkl
d d d
2 (_aijklabijk + bijkdjiaijkl) 72 Dijk
_ —
bijkcjkl
d? d d P o d d_ ..
d? cos 0;:11 — bijk 2 dz Qighl — Fuy Bijkl 3o ijk ( @ijki g7 Vigk + Dijh g7 Qight ) o Cikl
- 1jkl — 2 - 2 2
dx;dz; bskCiki bikCin
d? d d D 1 oo d d ..
d? ol — bijh g ag; Cigkt — dy Gkl gz, Dijk ( Gijkt g bigh + bijk 357 Gijhl ) gyr Cikt
S ikl = 5 - 2 2
dyidz; bijkcjkz bijkcjkl
d? d d P I Y oo d o d ..
d? cos By:1) — bijk gz, dm; @ijkl — o Qigkl g5 bigk ( @ijki gy, Vijk + Dijh go; Gight | oy Ciki
] ijkl — 2 . - 2 2
dzidz; b3 kCiki bk Cin

(357)

(358)

(359)

(360)

(361)

(362)
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d? d? d d d?
2 —a;ik1bijk o7 Cikl — aijklcjklg?bijk - 2aijk1gjbijkgjcj‘kz + bijkcj/elﬁ?aijkl

W COS ez‘jkl = b2 02 (363)
Fi ik Cikl
d d d d
2 (_aijklbijk T Cikl — az‘jklcjklmbijk + bijkcjklﬂjaijkl) T Cikl
- 2 3
bijlccjkl
d d d d
2 (_aijklbijk Tw; Cikl — QigklCikl gg=bijh + bijkcjkleaijka T Vigk
- 3 2
bijkcjkl
2 b= e et g dp o d g Aoy d A
d ijkl deyjdzj Jkl ijkl Jkldyjdzj ijk ij}ldz]. "Jkdyj Jkl ij}ldy]. zgkdz]. Jkl ijk jk)ldy].dzj ijkl
W COS Hijk;l = b2 ) (364)
Y;ax; i1k Cikl
d d d d d d d d
bijk da; Vigkl gy; Cikl — bijk Fy; Vidkl 3o; Cikl + Cikl g aijkld,jjbijk - Cjk’l@jaijklﬁjbijk
3 2
bijkcjkl
d d d d d d d d
2 (-aijkzbijk@jcjkl — ijkiCikl g7 bijk + bijkcjkl@jaijkl) ay; Cikl 2 (—aijklbijkgjcjkz — @ijkiCikl g7 bijk + bijkcjklﬁjaijkl) 3y idk
- 2 3 - 3 2
bijkcjkl bijkcjkl
2 —iigbi e e g A A g g d e A
d ijklYigh Gz do; “IkL iklCTRL Gz da; Vidk ikl g Yigk qz; Cikl ikl gz Vighk o, ©ikl 1k Cikl dz; day Yigkl
Tod - COS Oijkl = 2 2 (365)
zjdx; 17k Cikl
d d d d d d d d
bz‘jk@&ijklgjcjkl - bz‘jkdjjaijklmcjkl + Cjkl g, aijklfjszk - Cjkzrzjaijklmbijk
3 2
bijkcjkl
d d d d d d d d
2 (-aijkzbijkdjjcjkl — @ijkiCikl g7 bijk + bijkcjkldj_]aijkl) 3z Cikl 2 (—aijklbijkgjcjkz — @ijkiCikl g5 bijk + bijkcjklﬂjaijkl) 227 ik
- 2 3 - 3 2
bijkcjkl bz’jkcjkl
2 —aiktbijh o Gkt — Gkt Cir o biik — Gk 2= bijk 2 Cir — Qijat 22— biike 2 it + bijnCikl —— i
d 1jRIYigk Gy da; CIR 1 RLCTRL Gy da; P19k 1§kl ViR oy, CIR 1jkL gy, ViR da; CIR 1k TRl Gy da; C1TKL
ﬁ COS 9”;” = b2 5 (366)
LR AT ik Cikl

d d d d d d d d
bijk Ty Gidhl gy, Cikl — bijk gor Wijkl g7 Cikl F Ciki g Cighl goy bijk — Cjkl gor aijkl%jbijk

2 2
bijkcjkl

d d d d d d d d
2 (*aijklbijkgjcjkz - aijkzcjkl@jbijk + bijkcjklﬁjaijkl) TeoCikl 2 (*aijklbijkgjcjkl - aijkzcjklﬁjbijk + bijkcjkzgjaijkz) Ta bijk

> 3 3 2
bijkcjkl bijkcjkl
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o d? ) ) d? d d d d d?
d2 o8 —a;jk1bijk Tyrde; Cikl = igklCikl gy ao bijr — aijklmbijkmcjkl - aijkl@bijkﬁcjkl + bijkCik Ty da; Yighl 367
— ikl = 5>
dyrdx; bijkcjkl
oo oo d Loy d o d o oo d oo dy Lo d oo dy
bz]k da; Qijkl dyr Cikl bzgk dyr Qijkl da; Cikl + Cikl da; Qijkl dyr bzgk Cikl dyr Aijkl da; bz]k
2 32
b3k Cin
b, A . od oy R B d .. d d d d
2 (—azgklbuk@%kz — ijkiCjki gy Vi + b”kcgkzgjaum) aur Gkl 2 (—aijkzbijkgjcjkz — @ijkiCjkil g Dijk + bijkcjklgjaijkz) aur Digk
- 2 3 - 3 2
bijkcjkl bijkcjkl
2 —apibii e e o g Ay g g A A
d cos 0 . ijklVijk dzydz; Jkl ijklCjkl dzydx; ijk Qijkl dux; ijk dz,, Cikl A5kl dzy ik dz; Cikl ik Cikl dzydz; Aijkl (368)
—— ikl = 5
dzdzx; b7k Cin
ood oo d ooy d oo d L oo d o dy Lo d o dyp
bzyk da; Qijkl dzr, Cikl bz]k dzr, Qijkl da; Cikl +cjkl da; A5kl dz bzgk Cjklmawklﬁjbuk‘
2 2
bijkcjk-l
b, A . od p e Ao d .. d d d d
2 (_awklbzgk da; Cikl — azgklcgkl%jbuk + szkcjklmaz_]kl) TGkl 2 (—aijkzbijkgjcjkl - az’jklcjklgjbijk + bijk%‘klm%jkl) 227 Dijk
- 2 3 - 3 2
bijkcjkl bijkcjkl
Coop o d? i oo d gy d . d? d d d d d d
d2 cosfo —a4jk1bijr Trda; Cikl — azgkzmbz]kdjl%kl + bijkCik do1da; Gidhl T bijkﬁ.jaijkzdjlqkl — biji oy Qigkl g Cikl — CjkldT.laijklEbijk
— ikl = R
dzdz; b7k Cin
(369)
d d d d
2 (_aijklbijk Ty Cikl — aijklcjklgjbijk + bijkcjkzﬁjaijkl) Ty Cikl
- 2 3
bijkcjkl
b g Ay d e A od o d d d d d
d2 cosf — aijkibijk yoda; Cikl — Qigkl g bijk gy; Cikt + DijrCikt Ty da; Vighl T bukmazgkldjl%kz - bz’jde“@ijklECjkl - Cjkzdfylaijkzabijk 270
d dl‘ ijkl — b2 02 ( )
Yax; ijkCikl
d d d d
2 (—aijklbijkgjcjkz - aijklcjklabijk + bijkcjkzmaijkl) Qyr Cikl
- 2 .3
bijkcjkl
b d? . oo dyd o o d? . L.o_d d d d d d
d2 o @ijktbijh gz gy Cikl = ikl gz Oigk gy Cikt + DijhCikl g = Gkt + bigh g @ighl gz Cikt = bigh go Gkt go= Cikl = Cikl gy ighl g bigh 371
dzdz, OO VR T b2, 2 (371)
(ARS] ik ikl

d d d d
2 (_aijklbijk T Cikl — aijklcjklmbijk + bijkcjklgjaijkz) J2; Cikl

2 3
bz‘jkcjkl
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d? d? d d d?
2 —@ijkibijh gz Ciki = QijkiCiki g2 Dijk — 2aijkl@jbijk@jcjkz + bijkCikl gz Gijkl
W COS eljkl = ! z b2 5 z (372)
Yj ik Cikl
d d d d d d d d
- 2 (—aijklbijkryjcjkl — @ijkiCjkl g7 Dijh + bijkcjklryjaijkz) 3y Cikl - 2 <_aijklbz‘jk Fy; Cikl = @igkiCiki gy~ igh + bijkcjkleaijkl) ay; ik
3> 3 3 2
bijkcjkl bijkcjkl
2 b= e e A2y dop o do o g Ao d
d QijkiVijk Gz dy; Cikl — QighlCikl gy Vigk = Qigkl gy~ ik G Cikl — Qijkl g, Vijh gy Cikl
W COS gljkl = b2 3 (373)
2§ Y5 17k Cikl
e A ood g d oy d o d od g dy o d o d oy
bz]kcjkl dz;dy; ikl + bz_]k dy; ikl dz; Cjikl bz_]k dz; ikl dy; Cjikl + Cjikl dy; ikl dz; bzyk Cjikl dz; ikl dy; bzyk
PR
bijkcjkl
d d d d d d d d
2 (*aijklbijkryjcjkz - aijklcjkldlebijk + bijk%kl@jaiw) 3z Cikl 2 (*aijkzbijk@qkl - aijklcjkl@bz‘jk + bijkcjkl@aijkl) Ebijk
- 2 3 - 3 2
bijkcjkl bijkcjkl
2 b e g e A g dop A g Ao A
d ijkl Zﬂkdyjdxk Jkl 1jklCjkl dy; dzy, ijk 1jkl gz, Vidk dy; Jkl ikl dy; 15k dzy, CIkL
W COS eijkl = b2 P) (374)
LrAY; 17k Cikl
o d o d o d ood o d oo d oo d oy od o d
bl]k‘cjk‘l dy;dxy, A5kl bzgk dzy, Qijkl dy; Cikl + szk dy; Qijkl dzr, Cikl Cikl dzy, Aijkl dy; bz]k + Cikl dy; Aijkl dzy, bz]k
2 2
b3k Gl
d d d d d d d d
2 (—aijklbijk@jcjkz — @ijkiCjkt gy, Dijh + bijkcjkz@jaijkz) To Cikl 2 (—aijklbijkrwcjkl — @ijkiCikt g7 Dijh + bijkcjkl@jaijkz) 2oy Vi
B 2 3 - 3 2
bijlccjkl bijkcjkl
2 b e e Ay g doy d g dop o d
d ijklYijk dyrdy; gkl ikl Cikl dyrdy; ijk ijkl dy; ijk dyr Jkl ijkl dyr ijk dy; gkl
W COS aijkl = b2 5 (375)
YAy ik Cikl

d? d d d d d d d d
bijkcjklidykdyj aijkl + bijk Gy Vigkl gy Cikl — bijk Tyr, Wigkl Gy Cikl  Cikl G- Gighl gy, bijk — Ciki g, aijkl@jbijk

2 2
bz’jkcjkl

d d d d d d d d
2 (*aijkzbijk Ty Cikl — az‘jlejM@bz‘jk + bijkcjkleaijko oGkl 2 (*aijklbijk@jcjkl - aijklcjkldTJjbijk + bijkcjkl@jaijkl) aur Dijk

2> 3 3 2
bijkcjkl bijkcjkl

WSLIOWOSI0219]S Jo 11oddng [[ng yitm SO[NOQOJA d1ueSI() pue drueSIou] I0J IOYTIUSP] JB[NOS[OIN V Teg[ON IS



LYS

ooy d A2y dp o d o dop o d
d2 Cos@~-kl o _az]klbz_]k: dzrdy; Cjikl QijklCikl dzrdy; bz_]k: ikl dy; buk dzs Cikl Qijkl dzr, buk dy; Cjikl (376)
- gkl — 2 2
dzdy; bijkcjkl
e dE ood oo d o d g d od g dp e d g d oy
bl]k?cjk}l dzrdy; A5kl + bz]k dy; Aijkl dzn Cikl bz]k dzr A5kl dy; Cikl + Cikl dy; Qijkl dzn, szk Cikl dzn, Qijkl dy; bzgk:
2 2
bijkcjkl
d d d d d d d d
2 (—&ijklbijk@jcjkz - aijkzcjkl@jbijk + bijkcjkz@jaijkz) TGkl 2 (_aijklbijde/jCjkl - aijk-zcjkl@jbijk + bijkcjkl@jaijko 227 Dijk
o 2 3 - 3 2
bijkcjkl bijkcjkl
d? d d d? d d
d2 s 6 —@ijkibijhk gy, gz Cikl = Qijkl gy Vijk gy Cikt + DikCikl gy qmy Gight — bigh goy Gijkt g, Cikl a7
o gkl = 2 92
dzdy; b3k Ci
d d d d S N - Hp SN - 20y S oA g )
bijkdiyjaijkldizlcjkl — Cjkld*rlaijklebijk B 2( a‘ijlb’ij dy; Cikl — Qi5k1Cjkl dy; bzgk +bz_]kcjk5l dy; az]kl) duz; Cikl
2 2 2 3
bz’jkcjkl bijkcjkl
b g dop o d e dr odgod o _pod o d oo d o d
d2 cos 6: - _az]klszk dy,dy; Cikl ikl dy; bz]k dy; Cjikl + bl]kcjkl dyidy; ikl + bz]k dy; ikl dy; Cikl bz]k dy; ikl dy; Cjikl Cjikl dy; ikl dy; bljk} (378)
, ijkl = 2 2
dyidy; bijkcjkl
d d d d
2 (*aijkzszk Ty CikL — aijklcjkl@bijk + bijkcjkl@aijkl) dyr Cikl
B 2 .3
bijkcjkl
oy A2 Ay d e A ody oo d oy dod o d o d
d> 080, = —aijkibijk dzydy; Cikl = Qijkl gy bijk dz, Cikl + bijkCik dzdy,; Yidkl + bijk dy; Vigkl Gz Cikl bijk dz; Qighl gy Cikl = Cikl gz Qigkl gy bijk (379)
) ijkl = > 2
dzdy; b3jkCikl
d d d d
2 (—aijklbijk@jcjkz - aijkzcjklfwbijk + bijk%‘kl@‘%’jkl) 227 Cikl
o 2 .3
bijkcjkl
0 b Lo e A 9 oy A o
d ijkl dez? gkl ijkl Jkldzf. ijk ’L]k‘ldzj dezj gkl ijkCikl dz]z ijkl
ﬁcosaijkl = b2 02 (380)
r ik Ciki

d d d d
2 (_aijklbijk z; Cikl — aijklcjkzdjjbijk + bijkcjkl@aijkl) 3z Cikl

> 3
bijkcjkl

d d d d
2 <_aijklbijk z; Cikl — aijklcjkzdjjbijk + bijkcjklgjaijkz) szbijk

3 2
bijkcjkl
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d? d? d d d d
d? oo —@ijkibijk g, gy Cikl = QijkiCikl g5, gy Vidk — @ighl gy Digh go7 Cikl = Qigkl g5 Vijk gop Cikl 381
dapdz, SO0k = b2, c? (381)
kU] ijkCikl
e d’ b, A d o4 o d o Lo d o dgp od oo d oy
szkcjklmawkl bz]k Eaz]kldizjcjkl + bzngZjGZJklmC]kl C]klmazjklfjbmk + Cjklfjazjklmszk
3 2
bijkcjkl
d d d d d d d d
2 (—aijkzbijkrzjcjkz - aijklcjklgjbijk + bijkcjkzdfzjaijkz) Top Cikl 2 (—aijkzbijkdjjcjkl - aijk-zcjklgjbijk + bz‘jkcjklgjaijkz) Tuy Dijh
B 2 3 B 3 2
bijkcjkl bz’jkcjkl
b d? . o d’ y oo dp o d o o dp o d
d2 _aljklb’bjk dz;dyx, Cikl — QijklICjkl dz;dyx szk - azgkld(ﬂbzﬂcrzjcjkl - aljklﬁjbl‘]k} dys Cikl
ﬁ [¢0)] ayjjk-l = b2 ) (382)
Yraz; ik Cikl
o d’ b, A g d a0 d oL d o dyp od oo d oy
szkcjklmamkl bwk@azgklﬁcﬂcl + bzgk dizjaljkl@cjkl Cjk?l@al]kldizjbljk + cjleZjGZJklmszk
R
bijkcjkl
d d d d d d d d
2 <_aijklbijk z; Cikl — aijklcjklrzjbijk + bijkcjkl@aijkz) Ty Gkl 2 (-aijkzbijkrzjcjkz - az‘jklcjkzabijk + bijkcjkzdjjaijkl) aur Digk
- 2 3 - 3 2
bijkcjkl bijkcjkl
. d’ . o d? - o, dp o d oo dyp o d o
d2 _amklbz;kmcﬂcl - a/ljklcjk)lmbljk) - az]kl@bmkacﬂcl - azgklmbwkfjcﬂcl
W COS ei]‘kl = b2 P) (383)
ZEaZ; 17k Cikl
o d? . od . d oy d o d od . dy L d o dy
bl]kcjklmaljkl + szkdizjazjklacjkl bz]k Eal]klrzjcjkl + C]klgjazjklmszk Cjklmazjklgjbuk
2 2
b7k Gl
d d d d d d d d
2 (—aijklbijkdjjcjkz — ijkiCikt g7 bigh + bijkcjkldjjaijkz) T2 Cikl 2 (_aijklbijk 3z, Cikl = aijklcjkldizjbijk + bijkcjkl;jaijkl) 22, Dijk
- 2 3 - 3 2
bijlccjkl bijkcjkl
oo d? . oo d gy d oL o d’ . ood oo d
d2 _amklbukmcﬂcl - azgklabmkdlecﬂcl + bz]kcjklmamkl - bljkdixlaljkldizjcjkl
———cosbip = (384)
dxdz; J b2, 2
14z ik ikl
d d d d S A AT« 2 S A« d ..
bijkgaijkzdjlcjkl - Cjklrxlaijszbijk 2 ( ijkibijk dz; Cikl = QijklCikl g, bijk + bijrCjki dz; aukl) dz; Cikl
2 2 - 2 3
bijkcjkl bijkcjkl
d? . oo d gy d oL o d’ - ood oo d o
d2 —@ijktbijh gz gy Cikl — Qighl gz Oigk gy Cikt + DijhCikt gz Gigkl = bigh gy Qijki g5 Cikl
——— 080 = (385)
dydz; J b2, 2
Yiaz; ik Cikl

d d d d b= e a3 b e g ) e
bijkﬁjaijkldiy;cjkl_Cjkldiylaijklabijk 2( al]klbljkdzjcjkl az]klcjkldzj bz]k"'szkcykldzj a'z]kl) dy; Cikl

2 2 2 3
bijkcjkl bz‘jkcjkl
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d? d d d? d d d d d d
d2 ; —a;ik1bijk Tovdz; Cikl — aijklabijkacjkl + bijkCik Tzydz; Gighl bijkaaijkzdjlcjkl — bk o7 Qighl go; Cikl — Cjkzdjlaijkldjjbijk 386)
——— COS Ukl = CR)
dzdz; bijkcjkl
d d P d ..
2 (*aijkzbijk z; Cikl — aijklcjkzrzjbijk + bijrcin iz azjkl) dz; Cikl
- 2 .3
bijkcjkl
P N il ey b g Aoy d o d2
d2 —Qi5k1045k dwi Cikl — Q45kICjkl dwi ijk — 4Qijkl dzr ik dzy, Cjikl + ijkCikl daji A5kl
d72 [¢0)] Hijkl = b2 P) (387)
L, 17k Cikl
d o d oy P P d .. B N AN « 2 S P S _d yp
2 (*aijkzbijk T Cikl = QigklCikl gyy Oijh + DijkCikt 7o a”ij‘l) Toy Cikl 2 ( Wigktbijk gor Cikl = QijkiCikl Zor Dijk + DijkCikl g4, amd) Tuy Dijk
- 2 3 - 3 2
bijkcjkl bijkcjkl
2 b2 e e A g dop o do o dop o d
d Ai5k1055k dyrdzr, Cikl Aijk1Cikl dyrdzr, ijk A5kl dzr ijk dyr Cikl ikl dyr ijk dzy, Cikl
ﬁ COS 9”]@[ = b2 5 (388)
Y ATk ik Cikl
d? . ood d oy d o d od o dyp. L d o d
bl]kcjkl dyrdzy Akl + bz]k dzy, Akl dyr Cikl bzgk dyr Akl dzy, Cikl +Cjkl dzr, A5kl dyr bz]k Cikl dyr A5kl dzy, bzgk
2 2
bijkcjkl
d d d d d d d d
2 (*aijklbijkmcjkl — QijkiCikl g bijk + bijkcjklﬁaijkl) Tyr Gkl 2 (*aijkzbijkﬁcjkz — QijkiCikl gy bijk + bijkcjklmaijkl) aui Dijk
- 2 3 - 3 2
bijkcjkl bijkcjkl
2 b A e o dop oA d
d —Q55k1045k dzipdzy Cikl — Q45kICikl dzpdzy ijk — Qijkl dzy, z_)dek Cikl — A4kl dzr, ijk dzy, Cjikl
ﬁ COSs kal = b2 5 (389)
2R ATk ik Cikl
d? . ood oo d oy d oo d oo d o dy Lo d o dgp
bZJijkl dzkdmkawkl + szk dzr awklmcgk:l bljkmaljkl dzy, Cikl +cj]€l dzr, aljk}lﬁbl‘]k Cikl dzn Qijkl dzy, bzgk
b2, 2
ijkCikl
d d d d d d d d
2 (_aijk:lbijk:mcjk:l — QijkiCikl gy Dijk + bijkcjklmaijkl) 2o Gkl 2 (_aijklbijkmcjkl — QijkiCiki g Dijk + bijkcjklmaijkl) 22, Dijk
- 2 3 - 3 2
bijkcjkl bijlccjkl
2 2
2 —qeoabe g4~ o d o d oA o oo d oo d oy d o d o L d o dg
d COS@--M o aljklbljk dz,dzy, Cikl A5kl dzy, bzyk dz; Cikl + szkcjkl dz,dzy, Qijkl +b1jk dzr, A5kl dz; Cikl bz]k dz; Aijkl dzy, Cikl Cikl dz; A5kl dzy, bzyk
gkl — 2 2
dx;dxy, bijkcjkl

(390)

d d d d
2 (—aijkzbijkfdmk Cikl = GijkiCikl gyy Vijk + DijkCiki g4 aijkl) Jar Cikl

> 3
bijkcjkl
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d? d d d? d d d d d d
d? cosfons — —Qijktbijk gy, qoy Cikl — Gigkl goy Vijk gy Cikl T bighCikt g gmn @ikt + Dijk gor Gijki gy Cikl — bijh gy Gkt gor Cikl — Cikl gyy Qijkl Fay Dijk
— ikl = 7 2
dyidzxy, b%
(391)
d d d d
2 (_aijklbijk Tor Cikl — QikiCikl o bijk + bijkCikl gor aijkl) Jyr Cikl
- 2 .3
bijkcjkl
d? d d d? d d d d d d
d? o560 = —4jkibijh g5 gz Cikl — Qighl gyy Vigh 3o Cikt + DijkCikl o qay Qijhl F Dijh gur @ikl gy Cikt — bijk 3o Qighl ggr Cikl — Cikl goy Gijhkl Fgr Dijk
o ijkl = 7 2
dzdxy, b7k Cn
(392)
d d d d
2 (*aijkzbijk T Cikl = QijklCikl gy Oijk + bijkcjkzmaijkz> az; Cikl
- 2 .3
bijkcjkl
bijh L & bijr — 20 72 bijk 72 b &
d? —Qij5kl ijk@cjkl - az‘jklcjkl@z ijk — aijklm ijkmcjkl + ijkcjkl@aijkl
ﬁ COS 0ijkl = b2 P) (393)
Yie 17k Cikl
d d d d d d d d
2 (*aijk-zbijk Fur ikl = QijkiCiki g, bijk + bijkcjklmaijkl) ur Gkl 2 (*aijklbijk Jyr Gkl — GijkiCiki g, bijk + bijk%’klm%jkl) ayr Dijk
B 2 3 B 3 2
bijkcjkl bijkcjkl
d? d? d d d d
d? oo —ijkibijk g5, dgr Cikl — QighlCikl g2, dyy Vijk — Gijkl gy, Vijk o, Cikl — Gijkl g5, Vijk gy, Cikl (304)
dopdyy, kLT b2 2
LAYk ik Skl
o dE ood oo d ooy d o d o ood oo dyp oo d o doy
bl]kcjkl dz,dyn Qjjkl + b’L]k dyr Akl dzr, Cikl bzgk dzr, Akl dyr Cikl +C]kl dyr 55kl dzr, bz]k Cikl dzr, A5kl dyr bzgk
> 2
bijkcjkl
d d d d
2 (*aijklbijkmcjkz — QikiCikl g, bigk + bijkcjklmaijkl) Jz; Cikl
- 2 .3
bijkcjkl
d d d d
2 (—aijkzbijkmcjkl — QijkiCikl g~ bijk + bijkcjklmazjkl) 227 Dijk
B 3 2
by ik Cin
d? d d d? d d d d d d
d? ol — —ijkibijk gg gz Cikl = ikt gy Vi gy Cikt + VijhCint gy aqay Qight — Dijh gor Gijht gy Cikt + bigh gyr Gijhl g Cikl — Cikl g Qighl gy bigh
— ikl = —
dx;dys bijkcjkl
(395)

d d d d
2 (—aijkzbijkfdyk Cjkl — QigklCjkl gy Dijk + bijkcjklmaijkl) T Cikl

> 3
bijkcjkl
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2 b d’ d d d2
Qiirr b Cirt — Qiirg =3—b. -3 . g oo d g d o d g d d d
dicoseijkl _ 1 klYijk Gy, dy,, Cikl 5kl Gy, bijk dy; Cikl + bijrCirl dyidye Ligkl +bukdyk Qijkl Gy, Cikl bijk dy; Vigkl gy, Cikl —cjkzdjﬂaiju@bijk
dydyx b2, 2
5kCikl
(396)
S S | d d
- 2( ijkibijh gy Cikt — GigkiCikl gy Dijk + bijkcjklmaijkl) Jyr Cikl
2 3
bijkcjkl
2
2 b= e g Ao d IS P ood d d d d d
d 080y = RN T dyy TR T Bk, bijk gy Cikl + DijkCint g, qyy @ikt + bigh gy Gijkt gy Cikl — Dijk 35 Qijhl gy Cikl — Cikl gy Qijki 7,7 Dijk
dzdyy, J b2 2 ' (397)
iikCikl
b Ao d d d
B 2 ( ijribijh gy Ciki — QigriCikt gy Dijk + bijkcjkl@aijkl) 227 Cikl
2 3
bijkcjkl
b A d? d d 2
d2 Qijkibijh 5= Cijkl — Qijk1Ciki 5z Dijk — 2Qijki 75 ik 75— Ciki + bijkCikl - aijh
— cosBiip = k ke k k dzi Y
a7 050 T (398)

I —aiiibiin -t cors — @i Coing -3 b s P Sp M R S d
@ijktbijk g5 Cikl — QijklCikl g bigk + bijkCikl g5 Gijht ) goCikl 2 *aijklbijkacjkz*aijkzcjkzﬁkbijkerijkcjkl%kaijkz) ﬁszk

b2, 3 3. 2
17k Cikl bijkcjkl
d? d d 2
d? — Qb Cort — Qiirg =3B - iy =2 b, d od d d
o3 Byt — ijkibijk gz gz Cikl — Qijkl 3oy Yigk g Cikl + ik Cikt g2, gzy @ijkl — bighk g Qighi g5 Cikl + bigh gor @ijkl gy Cikl — Cjklrzlaijklﬁbijk
dz;dzy, b2, 2 /
ik Cikl
(399)
B N A < 21 d d
- 2( Qigkibijk g5 Cikt — QijkiCikl go Dijk + bijkCikl g az’jkl) T Cikl
2 3
bijkcjkl
d? d d d?
2 — it b Cirt — @iirg-3—b: - o e, d o d o d oo d d d
001 = iikibijk gy dgr Cikl — ikl gy Vijk gy Ciktl + DijkCikt g, gy @ikt — bigh gy Gkt g5y Cikl + Dijh g5 Qight g Cikl — Cikl gy; Gijki goy Dijk
dyydzy, b2, c? (400)
ik jkl
T I d d
2 ( @igkibijk g5 Cikl — QigkiCikl g5 bijk + bijk%’kla‘%’jkl) Fy7 Cikl
- 2 .3
bijkcjkl
d? d d 2
d2 Qi b= ey — gy s =g o d g d o d g d d d
cos eijkl _ ijklVijk dzidzn, 7kl 17kl dzr, ijk dz; Cikl + bl]kcjkll dz,dzr, ikl +bz_]k dzr Qijkl dz, Cjikl bz]k dz; azgklﬁcljkl - Cjk:ldizlaijklgkbijk
dzidzy, B2 2 401)
ik~ ikl

P S : S » od d
2 ( Qigkibijk g5 Cikl — QigkiCikl g5 bijk + bijkcjkz@aijkz) d%cjkl

2 3
b3k i

WSLIOWOSI0219]S Jo 11oddng [[ng yitm SO[NOQOJA d1ueSI() pue drueSIou] I0J IOYTIUSP] JB[NOS[OIN V Teg[ON IS



¢SS

d? d? d d d
d? —az‘jklwcjkl + Cjklwaijkl 2 (_aijkldTglcjkl + CjkldTElaijkl) da; Cikl

—= cosb;ik = _
2 ij 32 3
d$l bz]kcjkl bljkcjkl
2 2 d d d
> e & d A d o d 2(—@‘ AP —a»»)—o
_d 0 0,01 = il Gy, d; Cikl + Cikl gy Vidkl + Gy Gk gy Cikl — Gy Vigkl gog Cikl ikl gy Cikl & Cikl gy Qijkl ) gy, Cikl
ijkl = 2 3
dyldxl bi]kcjkl bijkcjkl
2 2 d d d
2 a4 R S dgy . d . d, o d . 2<—a-» L ¢, Cikl == Qi )—c
d o8 O;i0) = @ikl Gy iy Cikl + ikl Ty iy Vighl + Gy Vighl G Gk~ Gy Vighl G Gkl ikl gy Cikt T Cikil Gay Qighl ) Gz Gkl
1] - 2 a3
led{El bUijkl bUijkl
2 i 4 e L 2 —aiir s 4 oG- ) e
d 0 az]kldylzcjkl C]kldylzaz]kl Ukldyl jkl jk‘ldyl igkl dy, jkl
——F COS Uikl = _
2 ij 32 3
dy; bijkCip bijrCip
2 2 d d d
2 & d A A d 2(—a»» Aot —a~)—c'
d 08 030y — Qijkl oy dgn Cikt T Cikl oy, Vigkl t gy Qigkl g Cikl — qzy Qighl gy, Cikl B ikl qy; Cikl T+ Ciki gy Qight | gz Cikl
1kl — 22 e
dzdy; bzykcjkl szkcjkl
2 i e 4 e L =iy~ cirs + o a0 ) e
d 0 azgkldzfcjkl Cgkldzlzawkl ijkl gz, Cikl Gkl Gz, Yijkl ) gz, Cikl
—— COS Ukl = —
2 ij 2 3
dz; bijkCin bijkCjp

S1.3.3 Derivatives of a;;1;

The first and second order derivatives of a;;1; with respect to the coordinates x, i and z of the participating atoms 4,7,k and [ are:

d

T ik = ~Ykj (Trjyie — Tiynj) — 2k (ThjZie — Tirzrg)
1
d
dTJ_CLijkl = i (ThiYie — TirYrj) — 2kj (Yrj 2tk — Yik2rj)
1
d
=, Gijkt = Tkj (Thjzik — Tik2rg) + Y (YrjZie — Yik2k;s)
1
d
— ikl = —Yik (TjiYkj — Thi¥ii) — 2k (Tjizng — TrjZzii) — Wi — Uk) (v — Tutng) — (20 — 2x) (Trj2ie — Tinig)

dl‘j

(402)

(403)

(404)

(405)

(406)

(407)

The derivatives of a;;,; with respect to the coordinates x, y and z of the participating atoms 4, j and k are defined in Section[S1.3.3| The derivatives of cos ;1 are
equivalent by replacing a;jx; with d;jp; (see Section[ST.3.4).

(408)

(409)

(410)

411)
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d
dy;
d
dz;
d
d:I}k
%aijkl = Tj; (ﬂfkjylk: - Elkykj)
d

— ik = Tji (ThjZik — TikZkj)
de
d

T Qijkl = Tk (TjiYkj — ThjYsi) — 2k (Yjizhs — Ykjzgi) + (00 — o) (Trjyie — TeYrg) — (20 — 21) (Yrg 2k — Yik2ng)
- Qijkl = Tik (Tjizng — Trjzji) + yie (Yjizeg — Yrjzji) + (@ — 2i) (@rj 2 — Tiezrg) + (Vi — Yr) (Yrj2ie — Yikzng)

—— QiK1 = —Yji (»Tkjyuc - xzkykj) — Zji (ivkalk - xlkzkj) - (Z/j — 1) (xjiykj - xkjyji) - (Zj - Zl) («Tjizlcj - xkaji)

= zji (Ukj2ie — Yinzkg) + (5 — 21) (255905 — Trjyji) — (25 — 21) (Yji2hg — YnjZji)

+yji (Yrjzie — Yikzig) + (x5 — 20) (250205 — Tijzgi) + (Y5 — i) (Ygizhg — YjZii)

—— ikt = —Ykj (TjiYkj — Ths¥ji) — 2k (Tjizkj — Trjzji)

dx 1
K
dy

d

le

Aijkl = Tkyj (xjiykj - wkjyji) — Rkj (yjizkj - ykaji)

Qijht = Tiej (Tjizkj — ThjZji) + Yrj (Yjizkj — YkjZii)
d2
T2 Mkl = 0
€T3
d2
— ;=0
dy;dx; *
d2
——— i =0
dzidaci *
d2
————Qijkl = YkjYik T Zkj 21k
dxjdxi 4 y Jy J
d2
———— ikl = ThijYik — 2T1kYk;j
dy]dl‘z 9 J J
d2
———— QiR = ThjZlk — 2Tk2k;
dedl‘i * 7 7
d2
—Qiikl = —Yri (=Y F Y1) — 2k (=2 + 2
dapdz; Y Yrj (=5 +u1) i (—2j )
d2
————0ijkl = —TkjYik T TikYkj — Ykj (Tj — Ty
dypda; " Y Ykj — Ykj (75 )
d2
Qijkl = —Tkj 21k + Tik2r; — 2kj (T — X1)

dzidz;

412)

(413)

(414)

(415)

(416)

417)

(418)

(419)

(420)

421)

(422)

(423)

(424)

(425)

(426)

427)

(428)
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2
dxdx;
2
dyid; Aijkl =
d2
dzidx;

2
Tzﬁaijkl =0
2

Qi
ijkl — 7
Ui T %
kj
s
kjYkj

Qijhl = —T
kjRkj

dz;dy; a4kt =0

d2
dz;jdy;
d2
dy;dy;
d2

s
dedyi ijkl = Ykj
J2k — 2Y1kz
kj

Qijkl = —2x
kjYlk + TikYk
J

Qijkl = Tkjx
Tk + 2k 21k

d2
dzydy;
d2
dyrdy;
d2
dzpdy; IR T
vi Jjkl — —
- Ykj2lk + YlkZkj
) i — 2k (Y
dxdy;
d2
dyidy;
d2
dzdy, "M
” gkl = —Yk
J%kj

Aijkl = —T
kjYkj

s
ijkl = :
Ty + 2k

d2
752 Gkl = 0
d? l

dzjdzi aijkl =
kjZlk + TikZ
kj

a Tkl + r U + x
l
a = Tk — X)) — Z 1 |
J )

— Y1)

(429)

(430)

(431)

(432)

(433)

(434)

(435)

(436)

(437)

(438)

(439)

(440)

(441)

(442)

(443)

(444)
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J | k
= kj — G2k - - Zi—’_
T x _ | l Z
ji% jiy (y | k( k) +
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d? dd72
o ad
T
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1= d 2 (5 i%kj
. Zjd i—x Jer
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=
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d2
2z ikt = ~Y5i (=i ) + s (U — ) = 250 (=2 + ) + 25 (25—
k
d2
dgrday, VM = i (yj — ) — yji (x5 — 1)
d2
Do, Sk = (2 — 21) = zji (z; — @)
d2
maijkl = Yjilkj t ZjiZkj
d2
dyrdg Sk = Tk~ 2215y ji
d2
daday, ik = T3iFki — 2wy 2
d2
dy2 V= 2aji (x5 — w1) — z5i (=25 + 21) + 250 (25 —
d2
Tarndyy MM = Y5 (2 —2) = 2i (y; — )
d2
maijkl = —2%iYk; + TkjYji
d2
dyidyr Qijkl = TjiThj + ZjiZkj
d2
mazjkl = YjiZkj — 2YkjZji
d2
7,2 ikt = 2055 (25 — @) + 25 (Y5 — 1)
“k
d2
dzyday, M = —2xj5izk; + TrjZji
d2
M%‘jkl = —2U i 2k; + YkjZji
d2
dmdar Aijkl = TjiTkj + YjilYkj
d2
dfﬁgaijkl =0
d2

— ;i =0
dydz, "

Zl)

Zl)

A477)

(478)

479)

(480)
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(482)
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(484)

(485)

(486)

(487)

(488)
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d2

le dIl
d2

aijr =0

= i =0
dylz gkl

d2
dzidy
d2

aijr =0

—5 ik =0
3 Qij

dz;

S1.3.4 Derivatives of d;

The first and second order derivatives of d;;x; with respect to the coordinates x, y and z of the participating atoms 7,5,k and [ are:

d
%dijkl = 7kj (—Yrj2ik + Yik2kj)
K3
d
Tydijkl =Tk (Thj 21k — TikZkj)
K3
d
Edijkl =Tk (=ZrjYik + TikYrj)
(2
d i (55 (Ynjzie — Yik2hg) + Yji (—Trjzie + Tiezig) + 250 (ThjYie — TieYrj))
Edijkl = Tkj (yjizlk + Yrjzik — YikZji — ylkzkj) - T
. = s (=T — T+ T+ ) — 2 (i (Yrjzie — Yir2rg) + Yji (—Trj2ie + Tiezrg) + 25 (TrjYue — Tikyry))
1. - C 1 C C v 3 C
dy; j j j j J Trg
d Zij (55 (Ykj 2k — Yik2hg) + Yji (—Trj2ie + Tie2ng) + 250 (ThiYie — TikYij))
dfzjdijkz = Tkj (%‘iyzk + ZkiYik — TikYji — wlkykj) - -
d i (55 (Ynjzie — Yik2ng) + Yji (—Zrj2ie + Tinzg) + 2ji (ThjYie — TikYrj))
mquz =15 (Yji (25 — 21) + 20 (—y; +w)) + -
d Yk (96 ji (yk j 21k — Yk ) + Yji (—ffk; iZlk + Tk 2k ) + 2j; (xk iYik — TikYk ))
O = (s (s - 20) b 2 (0 — ) 4 T \Tgi Yk j j j j i \Thj j
Ay ijkl kj ( Ji ( J l) Ji ( J l)) Thj

(494)

(495)

(496)

(497)

(498)

(499)

(500)

(501)

(502)

(503)

(504)

(505)
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d

dzy

dijrt = iy (255 (Y5 — ) + g (=25 + 27)) +

2 (@55 (Yrj 2tk — Yikzig) + Yji (—Thj2ik + Tiezig) + 250 (Trjyie — TikYrs))

’I"kj
d
deijkl = ki (Yji2kj — YkjZji)
d
gy k= Tha (—@jizkj + Trjzji)
d
%dijkz = 15 (TjilYkj — ThjYyi)
d2
2 4 =0
dlL’% 17kl
d2
g =0
dyzdxz ijkl
dQ
Y 4 =0
dZdeEl A
d? doorr — Tk (—Yrjzik + Yik2ks)
dxjdx; Kl Tkj
d? Ykj (—YrjZik + Yik2k;)
Y g e, YR j j
dyjda:z ijkl kj<lk Thi
d? 2k (—Yrj 2tk + Yik2hj)
doirr = — e — kI j j
ded.%‘i ijkl TkjYik -
d? g — T (—Yrjzik + YikZi;)
drpdr; igkl Tk
& Yrj (—Yrj 2k + Yin2rg)
i = (2 — J J j
dyrdz; M rig (25 = 21) + Tkj
d? Zj (—YkjZik + YikZij)

diirg = T (—ys
donda, ikl =T (—y; + ) + -

(506)

(507)

(508)

(509)

(510)

(511)

(512)

(513)

(514)

(515)

(516)

(517)

(518)
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d2
———diip =
d-rldl‘i ijkl 0
d2
————dijkl = TkjZkj
dydx; kjZkj
d2
7d1 ikl = —Tki .
led.’I,'l J k]yk’j
d2
—dij =0
5 Qijkl
dy; K
d2
mdijkl =0
d2
mdim = T2k — Trj (Trj2ie — Tik2kj)
Tkj
d? (
Y g = Yki \TkjEIk T TikZ )
dudu, Ik kj
yjdyz Tkj
d2
mdijkl = rygan — (i 2k — Tik2ks)
1
T'kj
d2
mdijkl =1 (=2 + ) + Trj (Trj2ie — Tikzkj)
Tkj
d2
diir = Yk (xkalk — TRk
dypdy; ™ . 5)
kj
d2
mdzjkl = 1 (2 — 1) + 2kj (Thjzik — Tikzk;)
Tkj
d2
7611' ikl = —TkiZki
dxdy; kjZkj
d2
dijkt =0

dyidy;

(519)

(520)

(521)

(522)

(523)

(524)

(525)

(526)

(527)

(528)

(529)

(530)

(531)
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d2
dzdy; dijki = Tj Tk (532)
d2
d? Aot = 1o — Thj (—ThjYik + TikYnj) (534)
d’I’dei ijkl kjYik T
d dishl = — il — Ykj (—ThjYik + TikYry) (535)
dy]dZZ rkj
2 (—py .
d dijt = 2k (=T + TueYrg) (536)
dedZi Tkj
d? i (—ZrjYik + TikYk;)
————dijie = rij (Y5 — Y1) + (537)
dindz; T = T (y; —w) o
d? Ykj (—ThjYik + TieYrj)
diirg = i (—25 +x1) + (538)
dyrdz; k= Tkj (—T; ) Thi
@ = 2 (—Trjyik + T1kyn;) 539
dzkdzl Tkj
dQ
drdz; dight = ThsYrs (540)
2
didi‘kl = —TkjThj (541)
dydz; J Lk
2
= diim =0 (542)
dzidz; Ikl
d—Qdi - _ 2x (Yjizike + YrjZie — YikZji — YikZkj) (543)
da? Tkj

n Tji (Ynjzik — Yik2hg) + Yji (—Trjzie + Tiezng) + 250 (ThjYie — TieYrj)
’I“kj
xij (@5 (Yrjzik — Yikzrg) + Yji (—Trjzie + Tiezig) + Zji (TriYik — TieYrj))
o 3
Thi
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d? d Tk (—xjizie — Trjzik + TikZji + Tik2ig) (544)
——— i = — :
dy;dz; Tkj
Yki (YjiZie + YrjiZie — YikZji — YikZkj)
_ "
TriUkj (50 (Ykj 2k — Yik2hg) + Yji (—Trjzie + Tiezig) + 250 (ThjYie — TieYij))
_ sz
d? doiy — Tk (jsyk + TrjYie — TikYji — TikYrj) (545)
———— ikl = — _
dzjdx; Tkj
2y (Yjizik + Yrj 2tk — YikZii — YikZhj)
_ "
Trjzrg (Tji (Yri2ie — Yikzrg) + Yji (—Zrjzie + Tinzig) + 25 (Thiyik — TikYrj))
_ rij
&? o wrg (g (25 — 21) + 250 (=Y 1)) (546)
dxkdx-dijkl - Tkj
J
n Ty (Yjizik + Yrj 2k — YikZi — YikZhj)
Tkj
Tji (Yrjzie — Yie2hg) + Yji (—Tri2ie + Tiezrg) + 250 (TrjYie — TikYr;)
_ e
i (@50 (Ykgzie — Yikzeg) + Yji (—Thjz + Tikzig) + 20 (Thjye — TikYg))
r;zj
2 (45 (—zj + 2 zji (x; —x
dyjdxj dijki = Tij (—2i + 21) — T (25 (=2 +T;)j+ ji (25 — x1)) 547)
i Ui (Yjizike + YkjZie — YikZji — YikZhj)
T;cj
TriYri (Tji Y2tk — Yik2hg) + Yji (—Trj2ie + Tinzeg) + 20 (ThjYie — Tikyj))
+ =
d? dinr = 7o ( o ) Ty (xgv (yj - yl) + Yji (*xj + xl)) (548)
Tanda, Skt = Thi Wi — U "
" 2 (Yjizik + Y2tk — YikZi — YikZhj)
Tkj

Tj2hg (T5i (Yrj 2tk — Yik2ks) + Yji (—Thj2ie + Tie2ig) + Z5i (TrjYik — TikYis))
3
Thj

+
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@ = T (YgiZki — Yhsgi)
dxidx; " Tk
d? Trj (—Tjizng + ThjZji)
iy = s (2 — 2) — I ji%kj 325t
dyldifj 17kl kj( i k) Thj
d? Thj (TjiYks — ThyYji)
7d = (= + _ J J1IR]) J ]
Tzada, "k = Tk (=i +yr) .
d? donr — 2unj (—xjizik — Thjzik + Tikzji + Tikzeg)
o2 Gkl = :
Yj Tkj
n i (Ykj 2k — Yik2hg) + Yji (—Trjzie + Tiezig) + 255 (TrjYik — TikYrj)
Tkj
yﬁj (@i (Yrj 2tk — Yik2rs) + Yji (—Tkj2ie + Tiezig) + 250 (TkjYie — TikY;))
- 3
Thj
id, =  Yks @ik + Ty — TYji — TwYri)  Zkg (CTjiZk — Thj 2k + TikZji + TikZkg)
dzjdy; " Thj Tkj
_ YkjZkj (xji (ykalk - ylkzkj) + Yji (—ﬂfkalk + Jizkzkj) + Zji (xkﬂ/zk - xlkl/kj))
3
Tk
d? Trj (—Tji2ik — Tij2ik + Tik2ji + Tik2kj
———dijp =Tk (2 — 21) + 5 (i J Jt ;)
dzidy; Tk
oy Wi (25 — =) + 25 (=Y +u))
Tkj
4 ThiYrs (Tji (Yrj 2tk — Yik2hg) + Yji (—ZTrj2ie + Tizeg) + 20 (TrjYie — Tikyj))
3
rkj
d? - _ Ykj (sz’ (—Zj + Zl) + 25 (.’L‘j — xl))
dyrdy; " Tk
T Yk (—Tjizie — Trj2ie + TikZji + Tik2ig)
’I“;gj
Ty (Ynjzie — Yinzkg) + Yji (—Trji2ie + Tinzng) + 2ji (ThjYie — TieYrj)
Tkj

y]%j (w55 (Yrjzie — Yiezrg) + Yji (—Trjzie + Tiezrg) + 2ji (TreiYie — TikYry))
3
T

+

(549)

(550)

(551)

(552)

(553)

(554)

(555)
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d? . . L o — e
i = ey (i + ) — L (51 (93 = 90) + 51 (725 + 7))
dzkdyj Tkj
4 2k (=216 — ThjZik + TikZgi + TikZhg)
Tkj
+ Ykj2kj (xji (ykalk - ylkzkj) + Yji (—Jfkalk + ’Iuczkj) + Zji (l”kjyzk - aflkl/kj))
r,?;j
d? Ykj (YjiZkj — YkjZji)
— diiy =7 (—2 4 _ Jkj \Yjickj J<ji
dxldyj ijkl Tk]( Zi Zk) Thj
d? Qo = 9 (—2jizng + Trjz)i)
— dpig =
dyidy; " Thj
a? Yiej (2iYkj — Trjyi)
— di = . o _ Jkj \tjiJky j Y51
ledyj ijkl Tkj (-Tz QTk) Thj
izd, = 225 (@5iYie + TyYik — TukYji — TikYk;)
gkl —
dz] Tkj
n i (YrjZie — Yikzkg) + Yji (=T zie + Tiezig) + 250 (Trjyie — TieYiy)
’I’kj
. Zl%j (i (Yrjzie — Yir2ng) + Yji (—Trj2ie + Tiwzrg) + 250 (TrjYue — TikYry))
rgj
d? Lk (x iUk + TkjYik — TikYji — TikYk )
S D O A A J j J
oz, Tk = Tk (—yi +u1) -
2wy (hi (25 — 20) + 250 (- )
Tkj
4 LkjZkj (l’jz‘ (ykazk - kaij) + Yji (_xkalk + ﬂﬁlkzkg‘) + Zji (xkjym - Ilkykj))
rzj
d? Yki (T55Yik + ThiYik — TiklYji — TikYkj)
R P — X A + °J \""J 2 J ) °J
dydej ijkl Tky (xz xl) i
oz (i (=25 + 2) + zji (x5 — )

Tkj
Y2k (55 (Ynj 2k — Yik2hg) + Yji (—Trjzie + Tiezig) + 250 (ThiYie — TieYij))

+ 3
kj

(556)

(557)

(558)

(559)

(560)

(561)

(562)
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d? diipy = _Rkj (zji (y; —y) +yja (—zj + 1)) I Zkj (ke + ThjYik — TikYji — TikYkj)
dzpdz; Tkj Tkj
T (yijlk - ylkzkj) + Yji (—xkalk + xlkzkj) + zj; (ijylk — xlkykj)
Tkj
1%]‘ (fﬂji (ykalk - kaij) + Yji (*fﬂkanc + xlkzkj) + 25 (:ckjylk — xzkykj))
z
Tz?éj
d? 215 (Yjizj — Yrjzji)
diiry = 11 (1; — _ *kj \Yjickj J~ji
daydz,; Bk = Tk (Yi = yk) .
d? 2k (—%jizk + ThiZji)
diiry = s (—20 + 23.) — 22 §i%kj 3%
dylej ijkl kj ( 7 k) s
Ld. — 2y (T5iYky — ThjYsi)
dzlej *J Tkj
izd, = 2wk (y5i (25 — 21) + 2ji (=y; + 1))
ikl =
d.’l?i ! ’I“kj
i Zji (ykalk - ylkzkj) + Yji (—wkalk + wlkzkj) + 2ji (-Tkjylk - !lCZkykj)
Tkj
@iy (i (Yng e — Yinkg) + i (—Tki2e + Twzrg) + 250 (Thgn — TikYng))
rzj
L - xrj (x5 (=25 + 21) + 250 (x5 — 7))
dykdxk Y Tkj
L Yms (Wgi (25 = =) + 250 (Zy; 1)
Tkj
 TrgYkg (@i (g2 — Yikzig) + Yji (—Trgzie + Tezng) + 20 Ty — TueYr;))
r,:’;j
id, - Trj (50 (Y5 — y) + yji (x5 + 71))
dedl'k K Tk
L i (yji (zj — =) + 250 (=y; + u1))
’I"kj

_ TkjZkj (@i (Yrjzik — Yik2rs) + Yji (—Trj 2k + Tikzrg) + 240 (TkjYik — TikYk;))

3
rkj

(563)

(564)

(565)

(566)

(567)

(568)

(569)
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d2
T%%dijkl =

+

d2 _ Tkj (Yji%k; — YkjZji)
T Gijkl = :
d.%‘ld.%‘k Tkj
d Thj (—TjiZhj + ThjZji)
———dijk = TkjZji +
dyidzxy Thj
2

did»m — iy 2k (ZjiYnj — Tr;Ysi)
led:L'k * 797 Tkj

2Yk; (xji (_Zj + Zl) + 2j; (ﬁj — ml))
Tkj

i (Yrjzie = Yuezng) + Yji (0riz2e + Cizig) + 2ji (g — Tuye))

Tk’j

Yii (@50 Wy 2e — Yiwzg) + Yji (=2 + Tinzig) + 2ji (Trgyie — TieYi;))

+

Tkj
2 (x5 (=25 + 21) + 255 (x; — 27))
Tkj
_ YrjZkj (@i (Yrj 2t — Yikzrs) + Yji (—Trjzie + Tie2rg) + Zji (TrjYie — TikYr;))
rgj
d? Yrj Yjizki — YnjZii)
O diiy = 1z 4 2RIAIIIR J~3
d'l:ldyk ijkl kj~ji s
Ld- = Ykj (—ﬂUjiZk;j + xkaji)
ikl =
dyidyy, " Tkj
d? Yrj (TjiYkj — ThjYji)
— diir) =TT + J J J )9
dedyk ijkl kjLji e

d2

=i =
5 Qijkl =
dzj,

3
Tkj

2215 (250 (Y5 — yi) +y5i (=25 + 1))
Tkj

4 L (Ykj 21k = Yuwzng) + Yji (=Thj 21 + Tinzrg) + Zji (Ckgyik — TirYiy)

rkj

2y (@i (kg 2im — Yinang) + Yii (=22 + Tiezig) + 250 (Trgyin — Tinyg))

3
rkj

(570)

(571)

(572)

(573)

(574)

(575)

(576)

(577)

(578)
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S1.3.5 Derivatives of b;;;,

The first and second order derivatives of b;;;, with respect to the coordinates x, y and z of the participating atoms ¢, j and £ are:

d;li;deijkl = Tk;Yji + Zkj (yjiziij. YjZji)
dyjl;cdijkl = —Tp;Tj; + Zkj (_wjijlj;"‘ ThjZji)
@ 2k (Tl — ThYsi)
dzidz Thj
dd;lgdijkl =0
dy(li:lxl ikt =0
dz(liz{a:l ist =0
CZ;lgdijkl =0
d;lijiyldijkl =0
jjlgdijkz =0

d d
da; " =
d d
biip = by;
dy; 7* T dy, Ut
d d
——bijk = ——bijk

dz; dz;

(579)

(580)

(581)

(582)

(583)

(584)

(585)

(586)

(587)

(588)

(589)

(590)
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d d
— by — by
d$j ak dacj Jk
d d
——bijk = ——bijk
dyj J dy] J
d d
— biip = —b
de Jk de ak
d d
Ebijk dixkbijk
4 A,
dyr 7 dyy,
d d
— b — by
dzk. gk dzk gk
d? d?
Tx?bijk dlezbijk
d? d?

) bz
dy,dﬂ?, ak dylditz Ik
d? d? b
dz;dx; ik dz;dx; k

d? d?
itk — b1
dx;dz; i dx;dz; i
d? d?
biir = b;j
dyjdxl gk dy]dil'l gk
d? d?
biig = b
dedl‘L gk dZ]d.CCZ gk
d? d?
biir = ;i
dl‘kd{L‘i ik d:vkdsci ik
d? d?
biip = by
dyxdzx; dk dyrdx; gk
d? d?
biir = b;
dzdz; gk dzrdx; gk
d? d?
— bk = —=byi
dy? 7t dy?
d? d?
biir = b;;
dz;dy; i dz;dy; i

(591)

(592)

(593)

(594)

(595)

(596)

(597)

(598)

(599)

(600)

(601)

(602)

(603)

(604)

(605)

(606)

(607)
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d2
dxjdyibUk:: : b
d2 dyid(I}j ik
dybdyibwk - ’ b
g dy;dy; "
dzjdyib”k _ d? b
d2 dZ]dyZ ik
dmkdyibwk:: . b
Y dy;dxy, "
dykdyibﬁk - . b
. dyrdy;
dzdy; biji = <,
e dzpdy; "
I 2
b = 3
: de ijk
d? l
d.’Edei bijk - d2 b
d2 dZZd.’E] ik
dyjdz; bish = d . bij
d? o ”
dedZi bijk - d2 b
d2 dZ]dZZ ik
dmkdzibwk<: : b
8 dz;dzy, ik
2
dydeibUk B : b
" dz;dyy ik
dzkdzibﬁk = & b
- dzrdz; ik
& 2
bk = b
d? ]
dy;dx; bijk = :
P = Gy,
d2 AL 5
2

de dl‘j bijk

de dl’j bijk

(608)

(609)

(610)

611)

612)

(613)

(614)

(615)

(616)

617)

(618)

(619)

(620)

(621)

(622)

(623)

ddl‘l
[ q IM S
J
. . . [ [ W . O . .
esIouf 1o
WISTIQWOSIO (0] 1 ) QINIJT0 :)IuBff,I ue JIu g (0} J 19[.}[1[19 Jerno’dJo Je (6]
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@ bijk = i biik

dxpdx; " dxpdx; "

2 2
dyjdxj bigh = dyjdxj bigk

2 2
dzjdxj bijk = dzjdxj bijt

C;:lyzjgbijk = C;ijzbijk

2 2
dzzidyj ik = dz(jdyj Vit

2 2
dacckldyj bigh = dyjdmk bigi

2 2
dyfdyj Pk = dyfdyj Vit

2 2
dzidyj bigh = dzzldyj bigh

dcszbijk = (Z;bijk

2 2
dacckidzj bij = dz;idxk ijk

2 2
dy(:dzj bijk = dz;ldyk bii

2 2
dz(;jdzj bigk = dzjdzj bigh

dcflgcbijk = (Zj’%bijk

d2 2

bijk = bij
dykd:ck ik dykdl’k Jk

d2

d

2

bije = bi;
dedl'k ik ded.%‘k ik

d2

Ly =
dy? ™"

d2
dy}

bijk

(624)

(625)

(626)

(627)

(628)

(629)

(630)

(631)

(632)

(633)

(634)

(635)

(636)

(637)

(638)

(639)
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The first and second order derivatives of b;;;, are equivalent to the derivatives of b;;; by interchanging atomic indices.

S1.4 Coulomb Repulsion

d? d2
b = biin
dzrdyr, 7* T degdyy 7"
d? d?
.
dz} Jk dz}

bijk

A single Coulomb repulsion between two atoms ¢ and 7 is given by

S1.4.1 Derivatives of Ecoulomb,i;

The first and second order derivatives of Ecoulomb,i; With respect to the coordinates of the particapating atoms are:

ECoulomb,ij =
Tij

d Qd%ﬁ'j
TECOulomb’ij ==
T; 5
d Qﬁﬁ‘j
T Ecouomb,ij = ———5—
Yi T
d Qdizirij
FEleomb,ij =5
% T
d Qar-rii
T - Ecoutomb,ij = ———5—
Lj Tij
d Q gy
TECOUIOmb’ij =——a
Yj Tij
d Q%Tij
TEC()ulomb,ij =5
Zj Tij
d? 9 d ... . 2
@ dzlii 2@\ gorTis
_ i
5 o “Coulomb,ij — — P} 3
dzx; T T
d? d d ..
d? E _ Q dyida; | 13 2Q da; "5 dy; T
Tod Coulombij = — 3 + 3
y;dx; T T

(640)

(641)

(642)

(643)

(644)

(645)

(646)

(647)

(648)

(649)

(650)
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d2

5 3. ECoulomb,ij =

d2

d2

——— Ecoulomb,ij =

dyjdx;

d2

ECoulomb ij —
dedCEi "

d2

— EC L= —
2 oulomb,ij
dy;

d2
m ECoulomb,ij

d?
dx ;dy;

d2

N ECoulomb,ij =

dy;dy;

d2
dz;dy;

d2

@ECoulomb,ij = -
1

d2

ECoulomb,ij =

d.l?j dZi

d2

ECoulomb,ij =

dyj dzl

d2

ECoulomb iy =
de dZZ "

ECoulomb iy =
dx;dx; v

] ECoulomb,ij =

- ECoulomb,ij =

&
B Qzzaz, i

d d
2Q 75 Tij g5 Tij

2

T

3

T

_d d . d .
Q dxjdx; Tij 2Q dx; Tij dx; T'ij

2

e

.
Q dyjdz; Tij

3

T

d d_,.. .
2QTZ1T” erlj

2 3
3 r;
d’ - d . _d ..
Q dz;da; i 2Q 3577 dz; T
o 2 3
r; r;
d? d 2
Q=i 2Q (dyi r z‘j)
e
ij ij

.
o Q dz;dy; ’f‘”

d d
2QdTﬁTij d—Zirij

= 2
e

_d
Qdyidxj T‘z-]

3

e

d p.. d ...
QQETU dyiT‘”

2 3
3 T
_dz d . d .
. Q dy;dy; | i 2Q dy; "1 dy; "
2 3
3 T

d ... d .o
2Q3,: i dz; i

_d
Q dz;jdy; Tij

2 3
T T
d? d 2
iy 2Q (Tzirij)

i 4
7"2 ’I"3

.
Q dzida;j 7‘1]

d . d .
2Q d.LJ TZJ dz,i 7‘1]

2

5

_d
Q dzidy; |1

3

T

d .. d ...
2Qdyj TU dz; rz_]

2 3
Tij rij

Q dzjdz; T'LJ 2Q dz; TU dz; T'L]
B 2 3
T’ij rij

(651)

(652)

(653)

(654)

(655)

(656)

(657)

(658)

(659)

(660)

(661)

(662)

(663)
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w

) Lo 20 (L ?
d dz? " da; i

~_E o
9 +“Coulomb,ij P} 3
d:cj T T3
_d d . d .
P E, o Qy,dz; i + 2Q ;i dy; T
dydac Coulomb,ij — T-2- 7"3-
J J 1] 1]
d’ . d .. _d ..
d? > B dej da; i 2Q dz; T3 dz; Tid
Toda, “Coutomb,ij = — 2 + -3
AL ij ij
2
d? d
> Qgpriy  2Q (@Tz‘j)
J
—— Fcoutomb,ij = ———5— + =
dys re T
J ij ij
. d o d .
d? 5 o _dejdyj Tij N 2Q 3T 32 i
dzdu Coulomb,ij — r2 r3
3 Y ij ij
2
d? d
& 2" 20 (aﬂj)
——5 Ecoulomb,ij = ———5— + 3
dz? re. ro.
J 1) 1]

The first and second order derivatives of r;; can be found in the section[ST.T.2]

(664)

(665)

(666)

(667)

(668)

(669)
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SI MolBar: A Molecular Identifier for Inorganic and Organic Molecules with Full Support of Stereoisomerism

S2 Reference Geometries

In the Tables[S2]and[S2], we enumerate the reference geometries, most of them from VSEPR theory [2]], employed
in the structural unification workflow for extracting angle constraints. Our future intention is to broaden this listing
by incorporating additional reference geometries that exhibit greater deviations from the ideal geometry and are more
general. The symbol n,q; denotes the count of adjacent atoms surrounding the central atom. The central atom is
represented by the grey dummy atom, serving as a placeholder. The adjacent dummy atoms are depicted as white atoms.
All bond lengths are standardized to 1.0 A.

Table S1: Reference geometries used for extracting angle constraints with 1,4 < 4.

Nag  class reference geometry  angles comment
1 linear CN=1 — -
linear CN=2 e m
2 P
bent T 2
18
trigonal planar s i
2 =
trigonal pyramidal 0.6067
"l!
t-shaped %ﬂ', T
tetrahedral j 0.6067
|
4 ?
seesaw w,%w, %ﬂ'
ol
iy T——*
square planar 5T, T
@
ferrocene > 0.67, 0.394m, 0.7  used for carbon atom
in ferrocene for example
A"
formate e %ﬂ', %w, ™ used for the central coordinating
atom in a formate ligand
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Table S2: Reference geometries used for extracting angle constraints with n,q; > 4.

Nagj  class reference geometry angles comment
5 square pyramidal g %w, m
trigonal bipyramidal ! %w, %77, T
6 octahedral B im,w
b\.k
7 pentagonal bipyramidal 0.4m, 0.87, 7
pentagonal bipyramidal formate 5“ %w,%w, %’R’,’IT used for the metal center
with a formate ligand
1%
&
8 square antiprismatic ‘ 0.3947, 0.6057, ™
>8  unkown geometry is constrained

by Coulomb repulsion only.
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